UPCCL Junior Engineer Trainee
Electrical Setl

Topic:- UPPCL_Feb18_JETE_Set01_TECH

1) The size of a synchronous motor decreases with the increase in:-

3 giE F WY TF JeaPiiad Al F HFHR A F3A1 gie ¢:- [Question ID = 1891]

1. Speed / 71fa [Option ID = 7867]

2. All of these / @8t fased [Option ID = 7868]

3. Flux density/ Felerd ol Uelcd [Option ID = 7865]

4, Horse power rating/ 312aerferd ¥fEeT [Option ID = 7866]

Correct Answer :-
 Flux density/ welerd &l Helcd [Option ID = 7865]

2) If the area, current and number of turns of an AC circuit are doubled, then the new inductance
will be:-

I &, 4w AR vl wfibe & e Fr T Qe 8 STl B, & T 3R frae glan? [Question ID = 1849]

1. Twice the former/ "®I#ER & gaTs [Option 1D =7697]

2. Four times the former / ®I#R & =ia[=AT [Option ID = 7698]
3. Same / AT [Option ID = 7700]

4. Half the former / BI#R & 3merm [Option ID = 7699]

Correct Answer :-
» Four times the former / ®I#T & BT=T [Option ID = 7698]

3) If the cathode of Thyristor is made +ve with respect to the anode & no gate current is applied
then:-

IfE rARTeT 1 F418, TS & FFaey A HRIcHAS o1 fodT ST 3R F$ AT URT TIFd 7T Y ST q:-
[Question ID = 1811]

1. Only the middle junction is forward biased / sael s T ST 31T T 3 FHT gam & [Option ID = 7546]
2. Only the middle junction is reversed biased / shdel sfer &I g dIe gIehT g3t g [Optlon ID = 7548]

3. All the junctions are forward biased / &3ff Silg 31T T 3R gu % [Optlon ID = 7545]

4, All the junctions are reversed biased / T S8 9IS & 31K 31@5 gy & [Option ID = 7547]

Correct Answer :-
« Only the middle junction is forward biased / el Sl T SIS 31TeT T 31T SThT g3t & [Option ID = 7546]

4) If the total number of slots in a D.C machine is 25 and the total number of poles is 5, then what is
the coil span of the machine?



"afs DC wafier & Fror 25 Feitew § 3 For 5 O §, A 7T i F=of 3rafer Fm g2 [Question ID = 1781]

1. 5 [Option ID = 7427]
2. 30 [Option ID = 7428]
3. 20 [Option ID = 7425]
4. 125 [Option ID = 7426]

Correct Answer :-
o 5 [Option ID = 7427]

5) Which of the following outlines the features of D.C welding over A.C welding?

farafaf@a & & Far vl afeser o it afeser fr gRrenst fr wovar Fwarg?

[Question ID = 1861]

1. 1. The cost of equipment is higher. / "1. 39&R0T T ARTA 3AH §

2. It is less safe as no load voltage is high. / 2. I8 %# &I § #4ifeh A1 oIS dlecsT 3¢ A8l ¢

3. The efficiency is higher due to the absence of rotating parts. / 3. EJ'\U‘IFT T [Option ID = 7746]
2. 1. The cost of equipment is higher / "1. 39soT FI 1T 31fAF &

2. It is safer. / 2. 9 G B

3. The efficiency is higher due to the absence of rotating parts. / 3. €Ut #Tll & 31811d & FHROT G&TaT 3t g1 "

[Option ID = 7745]

3. 1. The cost of equipment is cheaper. / "1. 39ROT FI SPTT TEAT &1

2. It is less safe as no load voltage is high. / 2. I8 %# gR&TdT § #4ifsh A1 oIS dlecsT 3¢ oIel ¢

3. The efficiency is higher due to the absence of rotating parts. / 3. 'q}ﬁ?-r #TIT [Option ID = 7748]
4. 1. The cost of equipiiehtiseheapefs / [t (3TIUT|RT ATl /T &

2. Tt is less safe as no load voltage is high. / 2. I8 % Ff&Td § if% H1E oI5 et 3= 781 ¢

3. The efficiency is lower due to the presence of rotating parts. / 3. EI;Ui?r &1l [Option ID = 7747]

Correct Answer :-

» 1. The cost of equipment is cheaper. / "1. 3YehOT ST ARTT T&T &
2. It is less safe as no load voltage is high. / 2. Ig &# & § Fifd HIS AIs et 3od 78l o
3. The efficiency is higher due to the absence of rotating parts. / 3. E{\Uﬁ?r #ATIT [Option ID = 7748]

6) Which of the following will happen if the thickness of refractory wall of furnace is increased?

e F @ 7 Yo I oY iy 3rer A AR Y At 7 e 82
[Question ID = 1892]

1. Energy consumption will decrease / FaiT &t @9d 3 FeaT grefy [Option ID = 7872]

2. Temperature inside the furnace will fall / 73T & 37eX AT9ATA X SATTIT [Option ID = 7870]

3. Temperature on the outer surface of furnace walls will drop / #7381 & 37e3 dT9HTe fAIX ST [Option ID = 7871]
4, Heat loss through furnace wall will increase / $78T T &laR & AT gifel a6 STTalt [Option ID = 7869]

Correct Answer :-
« Temperature on the outer surface of furnace walls will drop / 8731 & 3ieX A9 fAIX ST [Option ID =
7871]




Calculate the energy efficiency when the input energy is 3000] and output energy is 1000J.

FIT G&TAT Y IV FY S« ga9e S 3000 ¢ X 3T3TYe ST 1000 F1 [Question ID = 1843]

1. 0.5 [Option ID = 7673]
2. 0.03 [Option ID = 7676]
3. 0.3 [Option ID = 7675]
4. 0.333 [Option ID = 7674]

Correct Answer :-
o 0.333 [Option ID = 7674]

8) A circuit breaker must be equipped for remote operation with which of the following?

% Fide 3 foaeT & & e & ary Rate sitotersr & fe gafSsra fram smer a1f@e? " [Question ID = 1815]

1. Inverse time trip / 3T §AI ITFT [Option ID = 7561]
2. None of these / 38 & @IS 81 F&T [Option ID = 7564]
3. Shunt trip / 2 IT=T [Option ID = 7563]

4, Time-delay trip / @&I-Tde ITT [Option ID = 7562]

Correct Answer :-
e Shunt trip / 2/ Im=T [Option ID = 7563]

9) The region has the highest area in the transistor.

e & 819 T I8 JAF &% ¢1 [Question ID = 1876]

1. Collector / Eamgs [Option ID = 7807]

2. Base / 9@ [Option ID = 7805]

3. Base-emitter / s9-TfAeX [Option ID = 7808]
4, Emitter / Tf#ex [Option ID = 7806]

Correct Answer :-
« Collector / Eamgs [Option ID = 7807]

10) Circuit breaker is device that is used for protection of circuit. Circuit breaker is an example of:-

affe 3o Xl FBarsw ¢ it afiFe i gean & fore swer R siar 8| |fde 397 T va 3aTe0T 47 8:- [Question
ID = 1800]

1. Arresters / 3T [Option ID = 7502]

2. Conductor / &3aeX [Option ID = 7501]

3. None of these / 38 & @IS #fF AT [Option ID = 7504]
4, Switchgear / Raafaax [Option ID = 7503]

Correct Answer :-
« Switchgear / faafaax [Option ID = 7503]

11) For Modern alternator, what will be the specific value of SCR?

amyfae sifeetaiel ¥ faT, SCR T fafirse AT 741 §19m? [Question ID = 1775]



1. 3 /2 [Option ID = 7402]
2.1 /6 [Option ID = 7404]
3.1 /2 [Option ID = 7401]
4. 3 /5 [Option ID = 7403]

Correct Answer :-
e 1 /2 [Option ID = 7401]

12) To save energy during braking, which type of braking is used?

AR F SR, FoIT T F AT, 7 THR AT AT F71 92 fFAr ar 2
[Question ID = 1863]

1. Regenerative / gTaifsit [Option ID = 7754]
2. Plugging / Taf3iaT [Option ID = 7753]

3. Dynamic / arfarefrer [Option ID = 7755]

4. All of these / T fased [Option ID = 7756]

Correct Answer :-
* Regenerative / g=igfsit [Option ID = 7754]

13) For the protection of power station buildings against direct strokes the requirements are:-

" ThF & Brare fsrel ax & srael iy gua F v frehr sravasar 2'? [Question ID = 1810]

1. None of these /B=1& &, Fis i 80 [Option-ID, 5 72544]

2. Interception and conduction / 3faRTeleT 3iR Hdgs [Option ID = 75427]

3. Interception, conduction and dissipation /3/aRTeI, dTeleT 31X 319ead [Option ID = 7543]

4, Interception, conduction, dissipation and reflection / 337G, YdTgehecd, 39T 3R GRIdd+T [Option ID =
7541]

Correct Answer :-
« Interception, conduction and dissipation /37TaRTers, @TeleT 3R 379ead [Option ID = 7543]

14) Which among the following is termed as the drift velocity of the charge carrier per unit electric
field?

fmafaf@a & @ wla w1 Tl ae ufe gfae Rsrel 87 $t 7819 391 F w7 # g1 51T 82 [Question ID = 1806]

1. Resistivity / gfaRreredar [Option ID = 7527]

2. Current density / &9RT "sdca [Option ID = 7528]

3. Mobility / srfarefrerar [Option ID = 7526]

4. Relative permittivity / @TJ&T 3fefH T [Option ID = 7525]

Correct Answer :-
« Mobility / arferefrerdar [Option ID = 7526]

15) Which among the following oscillator's output depends on nonlinear characteristics of the
circuit?



frrafaf@a & & Fla § el F1 amseye affe F1 I T Ravanst o sk #3ar 8?2 [Question ID =
1778]

1. Relaxation oscillator / RetererersT 3iRirelex [Option ID = 7416]
2. Colpitts oscillator / ®rerdied 3iETelex [Option ID = 7413]

3. Wien Bridge oscillator / d@¥eT fsioT 3fTerex [Option ID = 7414]
4, Crystal oscillator / fshEeer 3M&TeleX [Option ID = 7415]

Correct Answer :-
« Relaxation oscillator / Referarera 3i&Telex [Option ID = 7416]

16) Which among the following configuration has both current and voltage gain?

fArfaf@a Reara & ¥ SiF-3t D ary 31kt areest @ gt §? [Question ID = 1808]

1. CC [Option ID = 7535]
2. Both CC and CB / gt CC 3iR CB [Option ID = 7536]
3. CB [Option ID = 7534]
4. CE [Option ID = 7533]

Correct Answer :-
o CE [Option ID = 7533]

17) Which among the following is related to unsymmetrical faults?

et & @ Fa1 AT QW & "@aftra §2 [Question ID = 1804]

1. Double line-to-greund fault (-Seiey TSI~ AIT58 @I [Option\ID'# 7518]
2. All of these / @8t fased [Option ID = 7520]

3. Single line-to-ground fault / f#aTer ge7-g-a133 &% [Option ID = 7519]
4. Line-to-line fault / eig=I-g-eg<T &Y [Option ID = 7517]

Correct Answer :-
o All of these / I3 faseq [Option ID = 7520]

18) Which function is used to find the probability of an electron existing as a function of energy
level?

Tl T & U GARIE & T 7 AlSET sAacre i GH1E1 i @ F v Fl-@ S 71 3937 BFar s 8?2
[Question ID = 1807]

1. Gauss / 3iisT [Option ID = 7531]

2. Geometric distribution / SaTfACRT faazoT [Option ID = 7529]
3. Fermi-Dirac / w#f-f331% [Option ID = 7532]

4. Cumulative distribution / F=rY faazor [Option ID = 7530]

Correct Answer :-

« Fermi-Dirac / ®#i-f33@ [Option ID = 7532]

19) Select the dielectric constant of Silicon.

RRfaieT & 3raTge e HT TIA FY|



[Question ID = 1767]

1. 11.7 [Option ID = 7369]

2. 10 [Option ID = 7371]

3. 0.00105 [Option ID = 7372]
4. 35 [Option ID = 7370]

Correct Answer :-
e 11.7 [Option ID = 7369]

20) Which configuration in Bipolar Junction Transistor is also known as Voltage follower circuit?

gfarerdt Sierere giforee # i @ Ry Y Aiedsr Igardt wfie & w7 & #ft Srar Jrar 2 [Question ID = 1809]

1. Common Base / &T&HsT 98 [Option ID = 7538]

2. Common Collector / Hi#FsT FHatFe [Option ID = 7537]
3. Common Emitter / &l T#eX [Option ID = 7539]

4, None of these / 318 & 15 8T 18T [Option ID = 7540]

Correct Answer :-
« Common Collector / & salee [Option ID = 7537]

21) The binary code of [((10.625)) _10 is:-

[(10.625)) _10 & aTs=1{) %15 &1 §? [Question ID = 1837]

1. (1010.101)_2 / (1010.101)_2 [Option ID = 7649]
2. (1010.100)_2 / [1010:100) 2 [Optien ID-)7651]
3.(1010.111)_2 / (1010.111)_2 [Option ID = 7652]
4. (1010.010)_2 / (1010.010)_2 [Option ID = 7650]

Correct Answer :-
e (1010.101)_2/ (1010.101)_2 [Option ID = 7649]

22) Steam engine is based on which of the following thermodynamic cycles?

1T Soret Trafaf@a gefsraanfas ol & @ R ov 3menRa &2 [Question ID = 1883]

1. Rankine cycle / ¥&Tg+T s [Option ID = 7835]
2. Brayton cycle / siea Tsh [Option ID = 7833]
3. Stirling cycle / el T [Option ID = 7836]
4, Carnot cycle / &sife Tsh [Option ID = 7834]

Correct Answer :-
« Rankine cycle / {&Ts+T Tsh [Option ID = 7835]

23) For effective turning off of the SCR after the anode current has reached zero value,

TS 4RI & T A dF Tgd o1 & a6, THHIR H) gaimet afis & 9 @ & faw _| [Question ID = 1826]
1. None of these / =781 & s T sTET [Option ID = 7608]



2. Chargers are removed by applying reverse anode-cathode voltage / Ra® Tas-$2i1s dlecst o] &l ¥ AR
faeTer iR ST & [Option ID = 7606]

3. Chargers are injected by applying reverse anode-cathode voltage / Ra¥l Talls-$21s dledst o] e & fow
Toi} ST9MT STt §. [Option ID = 7605]

4. Chargers are injected by applying gate signal / ﬂ?:ﬁﬁ?i?«raﬂ:r\wd ¥ ITeR @NT ST §. [Option ID = 7607]

Correct Answer :-
« Chargers are removed by applying reverse anode-cathode voltage / Ra® Tals-UTs dledsl o] &l & AR
fS¥eprer fgU ST € [Option ID = 7606]

24) Why regenerator use in gas turbine power plant?

A s fasrel UT # ReTeiex T sTaATe FaY a1 SATaT §2 [Question ID = 1793]

1. To produce extra heat / 31faRed & FT 3cUTesT Xt & foIw [Option ID = 7474]

2. To produce high pressure in chamber / ¥sRX # 3T ga1d =11l & folv [Option ID = 7475]

3. To produce high temperature / 3T ATIATST ST 3cATe HL & folT [Option ID = 7476]

4. To recover heat from exhaust gases / & 3t & glc Repax a¥et & forw [Option ID = 7473]

Correct Answer :-

« To recover heat from exhaust gases / faera 3T & gic Revax &t & forw [Option ID = 7473]

25) Identify the ways by which the cost of power generation can be reduced?

Fw a0F & Rsrelt scurea At aNTT FH &) Thd! 82
[Question ID = 1862]

1. 1. Reduce the amount of investment in the plant. / "1. TI= # 32T ST AET HA HY
2. Reduce power generation to match costs. / 2. #ITeTdl &I 9 & & T faeTell 3curest &# Y| " [Option ID =
7749]

2. 1. Reduce the amount of investment in the plant. / "1. T & f&aer $r AT HF HL
2. Reduce the number of men employed in the plant. / 2. &% & AT qeut i @&ar wa #X1 " [Option ID =
7750]

3. 1. Choosing equipment that is cheaper though it may not be efficient. / "1. g 90T Toi ST FEAT § glelifeh TE
FAT T el &
2. Reduce the cost of labour and fuel. / 2. ## 3R S=T $r &1erd S Y| " [Option ID = 7752]

4. 1. Select the station as reduce cost of fuel, labour, etc. / "1. 3T, 537 317 FH ARTT FHH A & T TEUT T T
£y
2. Produce minimum power at any given point of time. / 2. fr&T 8ff foig W #geTca fstely 7 3cdest #31 " [Option
ID = 7751]

Correct Answer :-

1. Reduce the amount of investment in the plant. / "1. 37 & fager 1 AT 7 HY
2. Reduce the number of men employed in the plant. / 2. @& & fafora qest i @ear wa &Y " [Option ID =
7750]

26) What are the gates needed to make a half adder circuit?

&% UST Ffhe a1 & fAT Hla-F 3T 3maed« &2 [Question ID = 1831]

1. EX-OR gate and AND gate / EX-OR 3l 3{k AND 3ie [Option ID = 7625]



2. EX-OR gate and OR gate / EX-OR 31 3R OR 3¢ [Option ID = 7628]
3. EX-NOR gate and NAND gate / EX-NOR 3T 3k NAND 3¢ [Option ID = 7626]
4. EX-NOR gate and NOR gate / EX-NOR 3t 31k NOR 31 [Option ID = 7627]

Correct Answer :-
« EX-OR gate and AND gate / EX-OR 31 3R AND 3¢ [Option ID = 7625]

27) What will be the rotation speed of a 3-phase, 4-pole, 50 Hz synchronous motor, if the frequency
number of poles and load torque is halved?

IR et Y mgfed wear AR A3 <fE F 3mear F far S @Y 3-%, 4-9a, 50 §éT JedTTiad AT $r goia
afer 41 @19M? [Question ID = 1889]

1. 3000 RPM / 3fRdua [Option ID = 7858]
2. 750 RPM / 31dTea [Option ID = 7860]

3. 6000 RPM / 31RdYT# [Option ID = 7857]
4. 1500 RPM / 3TRYIT# [Option ID = 7859]

Correct Answer :-
e 1500 RPM / 31RAITH [Option ID = 7859]

28) Welding generator can produce

afege I T 3cUTE HT ThelT |
[Question ID = 1772]

1. Both AC and DC/ &Ia“AC 311X DC [Option ID = 7391]
2. DC only / 3aer DC [Option ID = 7390]
3. AC only / Faef AC [Option ID = 7389]
4. None of these / 3781 & F1$ 8ff &Y [Option ID = 7392]

Correct Answer :-
« Both AC and DC / &<t AC 31k DC [Option ID = 7391]

29) Water is decomposed into hydrogen and oxygen by means of an electric current by the method
of:-

Srer Y ATl garT fya yare & Area# F grggier AR itrdisreT & are i frafed R srar @:-
[Question ID = 1860]

1. Electrolysis / serareifeif@a [Option ID = 7743]
2. Electric heating / Seifdreas &Ifear [Option ID = 7741]

3. Electroplating / Selreiceifear [Option ID = 7742]
4, None of these / 35137 & 15 8t 18T [Option ID = 7744]

Correct Answer :-

o Electrolysis / gelereifarf@d [Option ID = 7743]



Which principle type of turbines is used in hydroelectric power station?

FSSISAfaeE e ¥ A fhd YR & earger &7 39Ahr faFar Sirar 82 [Question ID = 1786]

. None of these / 378 & &I $iY 51T [Option ID = 7448]

. Impulse type / 31391 &7 YR [Option ID = 7445]

. Both Impulse type and Reaction type / =i 31Ta9T & 9ehR 3iX 9fafshar 9eR [Option ID = 7447]
. Reaction type / 9fafshar ek [Option ID = 7446]

D WN -~

Correct Answer :-
« Both Impulse type and Reaction type / Gl 311497 T Wb 3R gfafehar g&R [Option ID = 7447]

31) A device, which detects the fault and supplies information to the breaker for circuit interruption
is called:-

TF 3YFT, ST GIY T Il oonrat ¢ AR e Fwrae & AT daT w1 gaa a1 § I 381 a1 741 8?2 [Question ID
= 1801]

1. Circuit breaker / &iféhe sl¥ [Option ID = 7505]
2. Arrester / 3%eX [Option ID = 7506]

3. Conductor / &3aeX [Option ID = 7508]

4, Relay / Rt [Option ID = 7507]

Correct Answer :-
« Relay / Rl [Option ID = 7507]

32) Usually, diesel power station is used where demand of power is

IHAANR 9T, dsTer ITaT T2 FT SEAAT FHIT SATAT § STET qTaT Y AT ¥| [Question ID = 1790]

1. Very high / Sgd 3Td [Option ID = 7463]

2. High / 3= [Option ID = 7462]

3. None of these / 38 & 1S #ff F&T [Option ID = 7464]
4. Less / & [Option ID = 7461]

Correct Answer :-
e Less / & [Option ID = 7461]

33) In the reverse blocking mode the middle junction (32) has the characteristics of that of a:-

R salifhar A3 & AT SR (S 2) # T, FF AT &:- [Question ID = 1828]

1. None of the mentioned / 3caif&d & & &g w7&T [Option ID = 7616]
2. Inductor / 9= [Option ID = 7615]

3. Transistor / gifor&eX [Option ID = 7613]

4, Capacitor / ¥TR= [Option ID = 7614]

Correct Answer :-
« Capacitor / @R [Option ID = 7614]

34) Conduction bands and valence bands overlap in:-

e 43 3 dow 35 Fwe savey I §2 [Question ID = 1855]



1. Conductor / &s%ex [Option ID = 7723]

2. None of these / s7387 & 1S $iY 5T} [Option ID = 7724]
3. Semiconductor / §I&saeX [Option ID = 7721]

4. Insulator / $geleX [Option ID = 7722]

Correct Answer :-
« Conductor / &3aceX [Option ID = 7723]

35) In hydroelectric power station Kaplan turbine is used for

FIEEIBA T UTaT TeU heas easd & & fore 3aer B ST 8| [Question ID = 1787]

1. Medium head / #ifsT# e [Option ID = 7451]
2. All of these / @8t fased [Option ID = 7452]

3. High head / 3Ta e [Option ID = 7449]

4, Low head / fa#=T e [Option ID = 7450]

Correct Answer :-
 Low head / &%= 2§ [Option ID = 7450]

36) Depending upon the voltage to be handled, switchgear may be broadly classified into:-

frafia o oot are et & ImuR W Raafras st #Ae dR W effga st fam s awar 82 [Question ID =
1802]

1. Outdoor type / 3T3¢3R 2189 [Option ID = 7509]
2. None of these / =78 & @IS &Y sTgT [Option ID = 7512]

3. Indoor type / 3iaR €159 /[Option ID>= 7510]
4. Both Outdoor type and Indoor type / gt 338K &89 3iX 38R €189 [Option ID = 7511]

Correct Answer :-
« Both Outdoor type and Indoor type / @ISl 333 €89 3R 318K €189 [Option ID = 7511]

37) During the transition time or turn-on time:-

TSI AT AT T¥ 3Tl AT F §RT:- [Question ID = 1827]

1. The forward anode voltage increases from 10 % to 90 % & the anode current decreases from 90% to 10% of
the initial value / 3T TS et 10% & 90% T 96 ST & AR TS e YRTFHSF AT & 90% & 10% dh
T ST & [Option ID = 7612]

2. The forward anode voltage decreases from 90 % to 10 % & the anode current also decreases from 90 to 10 %
of the initial value / 37T TTS aledst 90% & 10% deh T STl § 3R TAIS e Y IRIAS AT & 90 § 10%
de Te ST § [Option ID = 7609]

3. The forward anode voltage decreases from 90 % to 10 % & the anode current increases from 10 % to 90 % of
the initial value / 373 TaA1g dleest 90% ¥ 10% AF O AT & 3R TAIE Fe IRIAF AT & 10% T 90% TH
§¢ SITdT & [Option ID = 7611]

4. The forward anode voltage increases from 10 % to 90 % & the anode current also increases from 10 % to 90
% of the initial value / 3T Ta18 alecsT 10% A 90% deh §¢ 1T § 3R TS e off yRfA® AT & 10% &
90% de §¢ SIar g [Option ID = 7610]

Correct Answer :-
« The forward anode voltage decreases from 90 % to 10 % & the anode current increases from 10 % to 90 %

of the initial value / 3T TAE alecst 90% A 10% des T STdT § 31T TaAlg e IRfAS AT & 10% &



90% e ¢ SITdT & [Option ID = 7611]

38) Which gate operation gives high output when any one of its input is high?

FieT AT A AT 3o H3TYE AT §, ST $HS 3o19e A § F15 i 3= ghar 82 [Question ID = 1760]

1. EX-OR Gate / EX-OR 3¢ [Option ID = 7343]

2. NAND Gate / NAND 3t [Option ID = 7342]

3. NOR Gate / NOR 3t [Option ID = 7341]

4. EX-NOR Gate / EX-NOR 31€ [Option ID = 7344]

Correct Answer :-
o EX-OR Gate / EX-OR 31 [Option ID = 7343]

39) By using false triggering of the SCRs by varying flux & noise is avoided.

THHIAR & Bied TSR FY, r9T-3re09T YaTg 3T AW A e FA & AT, T TAT TR STaT § |
[Question ID = 1816]

1. F.A.C.L.F & C.B / Uh.T. 9T .UG 3R &T.&T [Option ID = 7565]

2. Shielded cables & twisted gate leads / ffess Faed R cfaees T &5y [Option ID = 7566]

3. Snubber circuits / eTea] Afehed [Option ID = 7567]

4, di /dt inductor in series with the gate terminal / 3c ef&aer & @Y WIS 7 3 3M$ / 3 & g3 [Option ID =
7568]

Correct Answer :-

« Shielded cables & twisted gate leads / 2fieas Faed 3R efares g oigy [Option ID = 7566]

40) The forward dv/dt rating of an SCR:-

T THHIIMR Y 3rfAe Y / S I - [Question ID = 1820]

1. Decreases with decrease in the rms value of forward anode-cathode voltage / 333 TAIS-FATS dlecs &
HRUATH Hed H FHHAT & A © ST § [Option ID = 7584]

2. Decreases with increase in the junction temperature / SierIeT ATYHTT & gig & AT B STl §. [Option ID =
7582]

3. Increases with increase in the junction temperature / SierTel 9T & giE & ATY &6 ST & [Option ID =
7581]

4, Increases with decrease in the rms value of forward anode-cathode voltage / 31317 Tals-&aTs dieesT &
HRUATH Hed H FH#AT & A §¢ Sl & [Option ID = 7583]

Correct Answer :-

« Increases with increase in the junction temperature / SeRIeT ATTATT & gig & ATY §¢ ST ¢ [Option ID =
7581]

41) The two transistor model of the SCR can obtained by:-

THHIN F &) I ATse F GIRT Iod FT Thel ¢:- [Question ID = 1824]

1. Bisecting the SCR vertically / THHI3R & oiead &9 & fdd]foTd e [Option ID = 7597]
2. Bisecting the SCRs middle two layers / THEIIT &I HEFH I & Tcil I &fdeIfoTd s¥eh [Option ID = 7600]
3. Bisecting the SCR horizontally / THEI3R s &ifcrst 9 & gfdeIfore s¥eh [Option ID = 7598]



4. Bisecting the SCRs top two & bottom two layers / THEHIIT & i &Y 3R forerel & 93l gfaeiore e [Option
ID = 7599]

Correct Answer :-
» Bisecting the SCRs middle two layers / THEN3R & HEFH I & Gl T G0 e [Option ID = 7600]

42) The current zero interruption, in oil and air blast circuit breakers, is achieved by:-

T Faegd 4T FFTae, d 3R Ay REwie wfde d@t #, fFud ganr wrea 1 e §2 [Question ID = 1812]

1. Deionizing the oil with forced air / SeTqde gaT & AL el &I [A3HeAehe [Option ID = 7552]

2. Lengthening of the gap (or) cooling and blast effect / 3/aRTer & TaEAR T fdereT 3R faTwie Tema [Option ID =
7551]

3. Lengthening of the gap / 37Tl & fa¥AR gaRT [Option ID = 7549]

4, Cooling and blast effect / efiaera 31X faTwie wetra [Option ID = 7550]

Correct Answer :-

« Lengthening of the gap (or) cooling and blast effect / 37cRTel & TaEAR AT 2ffcTele 3R faTwie g3ma [Option
ID = 7551]

43) How is the voltage determined when the current and resistance are given?

4T 3 9faRY T I X ateesr & F AuiRa fRar smar 2 [Question ID = 1780]

1. Divide the current by the resistance / &RT &t 9faRier & AT & [Option ID = 7422]
2. Subtract the current from the resistance / 9RT 3iR 9faRIer @r SIS [Option ID = 7423]
3. Multiply the current and.resistance, / &1XT. 31X SfcRYer v aomm &X [Option ID = 7421]

4. Add the current'and ithe! resistance Sadaia 3R ST s\ [OptionID = 7424

Correct Answer :-
« Multiply the current and resistance / €RT 3R 9fcRrer shr 3o Y [Option ID = 7421]

44) The apparatus used for switching, controlling, and protecting the electrical circuits and
equipment is:-

farsrelt & et 3 samvon wt Fafier, fa=or 3k gean & fv swasre fFam e arem susor #Y B @ & s
ST 82 Known as [Question ID = 1798]

1. Conductor / F3aeX [Option ID = 7494]

2. Diverter / 313acX [Option ID = 7496]

3. Switchgear / RaafdzR [Option ID = 7493]
4. Insulator / $geleX [Option ID = 7495]

Correct Answer :-
« Switchgear / faafaIax [Option ID = 7493]

45) Which unit is used to measure the capacity of a battery?

38 Y a1AaT A9 F AT FiT F sFE FT wA9T FHFAT SITGT 82 [Question ID = 1869]

1. Watt / are [Option ID = 7780]
2. Ampere-hour / TFIIIR-8eT [Option ID = 7778]
3. Volt-ampere / alee-TF4RIX [Option ID = 7779]



4, Ampere / TFIRIX [Option ID = 7777]

Correct Answer :-
o Ampere-hour / T&FdRR-ger [Option ID = 7778]

46) Here are two threads B and C have the same cross-section and are made of the same material. [
R) _B =500 Q and R_C =100 Q. The number of times B is longer than C is

TG AFABIRNCHATH A HA-FRAATIRIFAT e F 97§l (R] _B=500QandR_C=1009Q.BC
) T e

[Question ID = 1865]

1. 1 [Option ID = 7762]
2. 5 [Option ID = 7761]
3. 4 [Option ID = 7764]
4. 3 [Option ID = 7763]

Correct Answer :-
o 5 [Option ID = 7761]

47) The normal resistance of a pilot wire is:-

& Y aR & W 9faer #4782 [Question ID = 1782]

1. More than 500 ohms / 500 31T & 31T [Option ID = 7430]
2. More than 1500[chms-/ 1:500, 3% 4-31f8%[Option, ID 5 74321
3. Less than 500 ohms /~500 3ita & && [Option ID = 7429]

4, Less than 1500 ohms / 1500 31/ & & [Option ID = 7431]

Correct Answer :-
e Less than 500 ohms / 500 3fteT & @& [Option ID = 7429]

48) Which type of power stations use potential energy of water to produce electrical energy?

farera 39t #1 3eures Fa & AT e gvR & fsrelt TereT arelt Y Fenfaa ST F1 39ANT FIQ §2 [Question ID
= 1788]

1. Diesel power station / 3sTer UTaX T2l [Option ID = 7453]

2. Nuclear power station / 9XHTI] il 2T [Option ID = 7455]

3. Hydroelectric power station / 83ISelTage draX TeleT [Option ID = 7456]
4, Steam power station / T 9TaX TE2UT [Option ID = 7454]

Correct Answer :-
o Hydroelectric power station / g8aIsallded Uray Te2AT [Option ID = 7456]

49) Which type of power station can be located at any place?

P TR &1 el TeereT fREY oft TaTer 9T f8ud g WdT §2 [Question ID = 1789]

1. Diesel power station / 3rsTel 9TaX 20 [Option ID = 7457]
2. Nuclear power station / TRHTU] Ssit F2¥=T [Option ID = 7459]



3. Hydroelectric power station / gl88Igelidge Iray Te2reT [Option ID = 7460]
4. Steam power station / T 9TaT T2 [Option ID = 7458]

Correct Answer :-
« Diesel power station / 3rsTer 9raX F2UT [Option ID = 7457]

50) Which type of generating system converts heat energy of coal into electrical energy?

fre yaR F1 3caret gormelt e A I Fot F Rega s & gRafda #3872 [Question ID = 1756]

1. Diesel power station / S¥sfer faegd g [Option ID = 7326]

2. Nuclear power station / SATY] faegd g [Option ID = 7328]

3. Hydroelectric power station / gTggigcifereeh faegd e [Option ID = 7327]
4. Steam power station / 819 faegd &g [Option ID = 7325]

Correct Answer :-
« Steam power station / #1190 fdegd &g [Option ID = 7325]

51) Magnetic disk, electric motors, speakers, relays use which of the following elements?

I 3%, safFes Ay, Tlia, Ra fasafaf@a acat & & fw #1 393hr #3d 82 [Question ID = 1848]

1. Geothermal Energy / 9 - ardrT ST [Option ID = 7694]

2. None of these / 3s737 & 1S $iY 5Tt [Option ID = 7696]

3. Hydrochemical agents / gT8gIehiaiehel Tsic [Option ID = 7695]
4. Electromagnets / fa¥[d g&s [Option ID = 7693]

Correct Answer :-
« Electromagnets / fa¢fd g« [Option ID = 7693]

52) Quadrature axis synchronous reactance is the ratio of

TS 38T JeaFItaF Sfafwar F1 39T §| [Question ID = 1857]

1. Vmin to Imax / faf@s & 3msaaa [Option ID = 7731]
2. Vmin to Imin / RAf&= & 3m$fAsT [Option ID = 7732]

3. Vmax to Imax / d#e8 & 3msHed [Option ID = 7729]
4, Vmax to Imin / @& & 3mfA=T [Option ID = 7730]

Correct Answer :-

« Vmin to Imax / faf&s & 3m&d== [Option ID = 7731]

53) Latching current for an SCR is 100 mA, a dc source of 200 V is also connected to the SCR which
is supplying an R-L load. Compute the minimum width of the gate pulse required to turn on the
device. Take L = 0.2 H & R = 20 ohm both in series.

T THHIR & faT AT arr 100 vAT §, 2ooa1mwsﬁmmasﬂmm#aagm%,sﬁmmmﬁ
3mqfet FX W@ L. waﬂmmﬁ#ﬁvwwﬂtmﬁwmaﬁmw T HL=02H3RR =
20 39 .

[Question ID = 1821]



1. 81 psec [Option ID = 7588]

2. 62.7 psec [Option ID = 7585]
3. 100.5 psec [Option ID = 7586]
4. 56.9 psec [Option ID = 7587]

Correct Answer :-
e 100.5 psec [Option ID = 7586]

54) Stator and rotor fields rotate simultaneously in which of the following motors?

T AR Ve 81 7wy Arafafea # @ e A A gaa 82
[Question ID = 1893]

1. Universal motor / ¥4 #Alex [Option ID = 7875]

2. Synchronous motor / Jedehlfeleh HeX [Option ID = 7876]
3. D.C. motor / 3T & #Iex [Option ID = 7873]

4, Reluctance motor / ﬁfﬁ'@ﬂ’la [Option ID = 7874]

Correct Answer :-
« Synchronous motor / dedehlfelsh HeX [Option ID = 7876]

55) What does the Eddy current loss depend on?

vzl we aifa e W s #3ct §2 [Question ID = 1773]

1. All of these / @I Tashed [Option,ID-= 7396]
2. Frequency / 3idfeet [Option TD = 7393]

3. Thickness / #AeT$ [Option ID = 7395]

4. Flux density / WeTard gelcd [Option ID = 7394]

Correct Answer :-
o All of these / @ fased [Option ID = 7396]

56) In which of the following conditions will a 3-phase synchronous machine works as a capacitor?

e 3 @ e Rufy 7 v 3-=or geaifors #aie Wula & w7 7 #17 6t §2 [Question ID = 1880]

1. None of these / 3578 & s 3 sTET [Option ID = 7824]

2. Critically Excited / shifaes 9 & 3cafora [Option ID = 7821]
3. Under Excited / & 3cdfaid [Option ID = 7823]

4, Over Excited / 3tcaf@ie 3cdfoid [Option ID = 7822]

Correct Answer :-

o Over Excited / 37caf@ie 3cafard [Option ID = 7822]

57) In which of the following magnetism types, the atoms are aligned in parallel magnetic
moments?

et & @ a7 W1 Gawed, WA FAER gaH guit F Aviiag §2 [Question ID = 1853]

1. Ferro-magnetism / ®RI-#3afesta [Option ID = 7715]



2. Dia-magnetism / far-gsehca [Option ID = 7713]
3. Ferri-magnetism / ®1-#3=ifesta [Option ID = 7716]
4, Para-magnetism / IRT-HexATesta [Option ID = 7714]

Correct Answer :-
« Ferro-magnetism / $I-#3afest# [Option ID = 7715]

58) If the true power is 120 W and power factor is 0.68, then what will be the apparent power (in
VA)?

39X Z 9ra] 120 W 3R 91aT $hae 0.68 §, aY JeaaT grar 41 g1ef (VA #)?
[Question ID = 1864]

1. 81.6 [Option ID = 7758]
2. 17.6 [Option ID = 7760]
3. 176.47 [Option ID = 7757]
4. 103.2 [Option ID = 7759]

Correct Answer :-
e 176.47 [Option ID = 7757]

59) If the candle power is 45cd, then how much flux will be emitted by this source?

Ife MAAaed A afFd 45cd §, Ot 37 A gaRT vt varg scafsia frar sreem?
[Question ID = 1768]

1. 565.2 lumens / 565.2 gﬁ?f [Option ID = 7373]

2. 764 lumens / 764 AT [Option ID = 7374]

3. 0.00725 lumens / 0.00725 Fgﬁ?r [Option ID = 7376]
4. 9.20 lumens / 9.20 gﬁﬁ [Option ID = 7375]

Correct Answer :-
« 565.2 lumens / 565.2 o[&=T [Option ID = 7373]

60) The storage capacity of a SONY pendrive is 16 GB. Here what does G mean in 16 GB?

Hiet Y3159 Y TR 47T 16 GB ¥1 16 GB # G F1 Ade #4T §2 [Question ID = 1833]

1. 1024 KB/ 1024 & [Option ID = 7633]
2. 1024 TB/ 1024 &Y [Option ID = 7635]
3. 1025 PB / 1025 d [Option ID = 7636]
4. 1024 MB/ 1024 T4 [Option ID = 7634]

Correct Answer :-
e 1024 MB/ 1024 T4 [Option ID = 7634]

61) Overload relays are of type.

3ravers Rar 9K & | [Question ID = 1813]



1. All of these / T3 fdsed [Option ID = 7556]

2. Thermal / 2r&et [Option ID = 7554]

3. Electromagnetic / fdegd g&=h [Option ID = 7555]
4, Solid state / & 3/a¥T [Option ID = 7553]

Correct Answer :-
o All of these / @ fased [Option ID = 7556]

62) A thermal protection switch can protect against:-

U g et feaw e RAeg T F3ar 82 [Question ID = 1814]

1. None of these / 3578 & s 3 sTEY [Option ID = 7560]
2. Overload / 3aXes [Option ID = 7559]

3. Short-circuit / em¢ Tfhe [Option ID = 7557]

4. Temperature / dT9ATT [Option ID = 7558]

Correct Answer :-
« Overload / 3flaXalis [Option ID = 7559]

63) What is the relation between length of the cable and the capacitance?

Fao I da1 3T e F i d«er #3971 8?2 [Question ID = 1777]

1. No relationship / S T aTgt [Option ID = 7412]

2. Equal / g&ATeT [Option ID = 7411]

3. Directly Proportional / H@mﬂm‘cﬁ [Option ID = 7409]
4. Indirectly Propottional / E{ﬁh‘ﬂl?gcrl?-ﬁ [OptionlID =17410]

Correct Answer :-
 Directly Proportional / Hﬂmﬂ'm?ﬁ [Option ID = 7409]

64) What is the capacity of India's biggest thermal power plant?

T & Ga@ 93 ardT 39T §IF $Y &7 7471 82 [Question ID = 1882]

1. 5560 MW / 5560 #3mare [Option ID = 7832]
2. 5340 MW / 5340 #amare [Option ID = 7831]
3. 4760 MW / 4760 #atmare [Option ID = 7830]
4, 4620 MW / 4620 #3TaTe [Option ID = 7829]

Correct Answer :-
e 4760 MW / 4760 #amare [Option ID = 7830]

65) What is the most suitable method to turn on the SCR device among the following?

et F @ v W IR I A1 F F AT Fa¥ 39T aliwT 747 8? [Question ID = 1830]

1. Gate triggering method / 3t feaTieT faf&r [Option ID = 7621]

2. Forward voltage triggering method / 3131 arecst fearier fafer [Option ID = 7623]
3. Temperature triggering method / argaTeT feaTRer fafer [Option ID = 7624]

4, dv /dt triggering method / 3rdT / 3T fEaTiar fafer [Option ID = 7622]



Correct Answer :-
« Gate triggering method / 3¢ feaTier fafer [Option ID = 7621]

66) What is the decimal equivalent of the hexadecimal number AF2?

TFAR A A9 AF2 & SUaT g2rdod 41 82 [Question ID = 1832]

1. 2802 [Option ID = 7631]
2. 10152 [Option ID = 7632]
3. 2048 [Option ID = 7630]
4. 162 [Option ID = 7629]

Correct Answer :-
o 2802 [Option ID = 7631]

67) What is the critical temperature (in Kelvin) for Lead below which it shows superconductivity?

A & Fifasd aIAT (Ffead H) Fa1 ¢ O ¥ AT I8 rfaarasar R@rar 8?2 [Question ID = 1873]

1. 0.8 [Option ID = 7793]
2. 1.2 [Option ID = 7794]
3. 4.2 [Option ID = 7795]
4. 7.2 [Option ID = 7796]

Correct Answer :-
e 7.2 [Option ID = 7796]

68) What is the efficiency of diesel power station?

AT IIaT TAA FT 87747 fhd=it 82 [Question ID = 1792]

1. 53-56% [Option ID = 7472]
2. 22-27% [Option ID = 7470]
3. 85-90% [Option ID = 7471]
4. 35-42% [Option ID = 7469]

Correct Answer :-
e 35-42% [Option ID = 7469]

69) What is the phase difference (in degree) of input and output voltages of a transistor in common
emitter arrangement?

3T UfAET aEd # F gifee & a9e 3 ImFeye diees 1 % 3ia} (et #) #4782 [Question ID =
1897]

1. 45 [Option ID = 7891]
2. 60 [Option ID = 7892]
3. 90 [Option ID = 7889]
4. 180 [Option ID = 7890]

Correct Answer :-
« 180 [Option ID = 7890]



70) What is used as a prime mover in gas turbine plant?

I exaree w9F A, frw et 1 3947 WA AW & 9 A A7 A1 §2? [Question ID = 1794]

1. Gas turbine / 3/ eag= [Option ID = 7479]

2. Diesel / g1sTet [Option ID = 7477]

3. Water / 9=ir [Option ID = 7478]

4, Pelton turbine / UelcsT IaTS+T [Option ID = 7480]

Correct Answer :-
o Gas turbine / 3/ TagaT [Option ID = 7479]

71) What is the role of alternator in a steam power station?

FEH UTaT TUT H 3ifeeiex $T {fAwT #4182 [Question ID = 1784]

1. It converts electrical energy into mechanical energy / fatd it T AT Fott & GREfId Far & [Option ID =

2. I7t4§c?r1verts heat energy to mechanical energy / Ig dTdI T &T A Foll & gRafdd &dr & [Option ID =

3. I7t43§r]1verts heat energy to electrical energy / Ig aTiI 3T &I faega S # gRafcd sar & [Option ID =

4, I7t4:c(>)r1verts mechanical energy into electrical energy / Ig Jif3eh Feil @I faegd el & IRafcid swar & [Option
ID = 7438]

Correct Answer :-

« It converts mechanical energy-into.electrical energy | I8 A% FFT #F Tdagd Foil A gRafcia iar &
[Option ID = 7438]

72) What is the principle of Induction heating process?

YRoT AT+ 9T #1 Fa1 fRAgid 8?2 [Question ID = 1899]

1. Nucleate heating principle / wITf&hr arae=T f&gia [Option ID = 7898]

2. Thermal ion release principle / Wmﬁﬂaﬂm [Option ID = 7897]

3. Resistance heating principle / 9faRrer ardeT f&gra [Option ID = 7899]

4. Electro-magnetic induction principle / f&ege ey 9xoT f&gia [Option ID = 7900]

Correct Answer :-
« Electro-magnetic induction principle / faegd sehtar 9ot f&gicr [Option ID = 7900]

73) What is the number of nodal equation in the nodal analysis of a linear circuit having 4 nodes?

4 FArzd aTe W wfFe F Alsa [Avor # Az @HHIOT H1 TE&IT 747 §? [Question ID = 1867]

1. 6 [Option ID = 7772]
2. 5 [Option ID = 7771]
3. 3 [Option ID = 7769]
4. 4 [Option ID = 7770]

Correct Answer :-
» 3 [Option ID = 7769]



74) What is the total anode current of SCR in the equivalent circuit from the two transistor (T1 &
T2) analogy of SCR?

THHIHR T FATAAT ATt A ifee? (& 1 3R & 2) /), Tafiam i FoI Tz 4Ry FaHar TRy F fras gf
[Question ID = 1823]

1. The sum of both the base currents / &=t #eT €IRT3{t &T F1T [Option ID = 7593]

2. The sum of both the collector current / It TIMge YRT3T T 19T [Option ID = 7594]

3. The sum of base current of T2 & collector current of T1 / & 1 s Hamger &R 3R &1 2 T el GRT &7 AT
[Option ID = 7596]

4. The sum of base current of T1 & collector current of T2 / & 1 =T FeT URT 3 & 2 Y HaATEeh GRT T AT
[Option ID = 7595]

Correct Answer :-
« The sum of both the collector current / al=it TaITgeh YRT3AT &7 JTeT [Option ID = 7594]

75) What is the total resistance of a series circuit and parallel circuit respectively for resistors R_1 =
2 ohms, R_2 = 4 ohms and R_3 = 1 ohm?

it & faw affe 3 g@m@iaR afe Fae: R_1 = 2 ohms, R_2 = 4 ohms 3R R_3 = 1 37 & Fa yferiy
41 82 [Question ID = 1845]

1. 1.75, 7 [Option ID = 7683]
2.7, 1.5 [Option ID = 7681]
3.7, 1.75 [Option ID = 7682]
4. 7,7 [Option ID = 7684]

Correct Answer -
e 7,1.75 [Option ID = 7682]

76) Why surge tanks are used in hydroelectric power system?

FERsAfFeH e fAveH ¥ 3maeyr &F 1 3uAer w4t frar Sirar #2 [Question ID = 1785]

. None of these / 3=13Y & &5 3 =T8T [Option ID = 7444]

. For the protection of penstock / Jeieeieh T FI&T & T [Option ID = 7441]
. For the protection of spillways / Teqerd s gR&ir o foIw [Option ID = 7443]

. For the protection of turbines / ZsTg=it &1 &I & ferw [Option ID = 7442]

N W N =

Correct Answer :-
» For the protection of penstock / Ysi¥eleh T FI&T & foIw [Option ID = 7441]

77) For an SCR, the gate-cathode characteristic has a slop of 130. The gate power dissipation is 0.5
watts. Find Ig.

T THHIAR & fav, Ae-Fuis FAvar 130 F1 vw TAT §. A 9iaT 39T 0.5 are § | 3ms$sht aa1¢| [Question ID
= 1825]

1. 6.2 mA [Option ID = 7604]
2. 0.62 A [Option ID = 7601]
3. 620 Ma [Option ID = 7602]
4. 62 mA [Option ID = 7603]



Correct Answer :-
e 62 mA [Option ID = 7603]

78) Candela is the unit of

H3dT #1s1$ ¥ [Question ID = 1779]

1. Luminous flux / of#N T wFererd [Option ID = 7418]

2. Luminous intensity / of#faa® clierar [Option ID = 7420]
3. Wavelength / @31 &€& [Option ID = 7417]

4. Frequency / 3gfcd [Option ID = 7419]

Correct Answer :-
« Luminous intensity / e[#faa® cerem [Option ID = 7420]

79) The average power consumed in purely inductive circuit is:-

farerg w0 & 9or wfe F wgFa 3twa 397 7% 8- [Question ID = 1887]

1. 0.25 [Option ID = 7852]
2. 0 [Option ID = 7851]

3. 0.5 [Option ID = 7850]
4. 1 [Option ID = 7849]

Correct Answer :-
e 0 [Option ID = 7851]

80) Polyethylene, Nylon, Teflon, PET and vinyl are all examples of:-

gifa e, AT, Toad, PET 3R faamse weft fFas 3emeor §2 [Question ID = 1856]

1. Thermoplastics / ¥HTCenEea [Option ID = 7725]

2. None of these / 3s737 & 1S $iY sTgT [Option ID = 7728]
3. Titanium alloys / B¢ faas &1 [Option ID = 7727]
4, Elastomer / TaFeI#AR [Option ID = 7726]

Correct Answer :-
« Thermoplastics / ZdTcaTEes [Option ID = 7725]

81) If in a synchronous motor, driving mechanical load and drawing current at lagging power factor
from constant voltage supply, its field excitation is increased, then its power factor:-

i U Jeadifas AT I A1 & ST 167 auT aRased afFa FrF o By aieesr amqfet & arr o a1, sahr &
ScdotdT 9¢ ST § aY ahr AfFd FRF:- [Question ID = 1901]

1. Become more / STET & SATdT & [Option ID = 7905]
2. Become less / &a @I SiTdr & [Option ID = 7906]

3. All of these / @&t fased [Option ID = 7908]

4, Remain constant / &R @< & [Option ID = 7907]

Correct Answer :-
« Become less / &3 g SITdT & [Option ID = 7906]



82) Electric charge measured in Coulombs has the charge of how many electrons?

T & gafaed arel fhae gaFeial HT THR & T 82

[Question ID = 1842]

1. 6.242 * (1018) [Option ID = 7669]
2. 6.242 * (108) [Option ID = 7670]
3. 8.242 * (10'8) [Option ID = 7671]
4. 8.242 * (108) [Option ID = 7672]

Correct Answer :-
+ 6.242 * (1018) [Option ID = 7669]

83) A protective device, which reduces the steepness of wave front of a surge by absorbing surge
energy, is called:-

UF GUATeAT ITFOT §, S 3T Y JIANT FAT ¥ g & FROT o< A Y g FY F/ Fa1 8, 154 Fa71 rar
2:- [Question ID = 1797]

1. Surge diverters / 3132 318acX [Option ID = 7489]

2. Surge absorbers / 3Tar 31d2YH [Option ID = 7491]
3. Switching surges / T&a@eT 31aer [Option ID = 7492]
4, Earthling screen / 3121feiaT ThieT [Option ID = 7490]

Correct Answer ;-
« Surge absorbers7 3Taer 3faeise [Option 1D = 7491]

84) In an amplifier with the negative feedback, bandwidth is and voltage gain is
AfeT Frsds & w1y wrrewrRR #, dsfagy 2 3y Qe amer 2| [Question ID =
1841]

1. Bandwidth is decreased by factor (1+AB) and voltage gain decreases / Ssfasy e (1 + AB) A FHA & ST &
3T areesT oTeT H T SATaT § [Option ID = 7668]

2. Bandwidth is decreased by factor B and voltage gain remains same / §37a3Y gcah B & HH & AT ¢ 3K dleca
AT THTHT & 8T & [Option ID = 7665]

3. Bandwidth is increased by the factor (1+AB) and voltage gain is reduced / §3fa5Y Tes (1+AB) ¥ §¢ ST &
HR ateesT @87 % gidm ¢ [Option ID = 7666]

4, Bandwidth remains same and voltage gain increases / 4378 Teh THATA T&dT & 3R dlecst oTd ST g [Option
ID = 7667]

Correct Answer :-

« Bandwidth is increased by the factor (1+AB) and voltage gain is reduced / Ssfasy s (1+AB) & §¢ JATAT ¢
3R arecsT oreT S 81T & [Option ID = 7666]

85) Choose the types of electrochemical cells from the following options.

farafaf@a fwed & @ Ryd Twafas da & g Rl # 941



[Question ID = 1859]

1. 1. Galvanic (that consume electrical energy) and 2. Electrolytic (that consume electrical energy) / "1. 3rerarfaie
(ST TaeLeT ST T 3USIET T &) 3R 2. Solareiesieen (ST faYd il & 39sT X 8) " [Option ID = 7737]
2. 1. Galvanic (that produce and consume electrical energy) and 2. Electrolytic (that produce electrical energy) / 1.

drerarferen (TSre@t e[ 3ot &1 3cdreet 3R 3sHer T §) 3R 2. selagiansies (faegd Foil T 3curest #dr §)
[Option ID = 7739]
3. 1. Galvanic (that produce electrical energy spontaneously) and 2. Electrolytic (that consume electrical energy) /

1. deraforer (Fres faee Fofl @1 Scuree el ) 3R 2. goereenglee (Fres fed Fofl @1 3T ael )
[Option ID = 7738]

4, 1. Galvanic (that produce electrical energy) and 2. Electrolytic (that produce electrical energy) / 1. 3rerarfaies
(Fraet e it &7 3eateet gl §) 3R 2. sergienstes (e Fsi &1 3eurast X &) [Option ID = 7740]

Correct Answer :-
« 1. Galvanic (that produce electrical energy spontaneously) and 2. Electrolytic (that consume electrical

energy) / 1. orariereh (ST T ol &1 ScdTeet il ) 3R 2. Selgiansiee (Torea e Fait o1 3ueiaT
& &) [Option ID = 7738]

86) The flow of charged particles in one unchanging direction is called:-

T NIRRT AT & ATt FUIT FT TaTE FAT FEATdT 82 [Question ID = 1846]

1. None of these / 781 & s 3 sTEY [Option ID = 7688]
2. Sinusoidal Current / ETS=THISSl &RT [Option ID = 7687]
3. Direct Current / 9cJ&T 9T [Option ID = 7685]

4, Alternating Current / SeaTadt &IRT [Option ID = 7686]

Correct Answer -
o Direct Current / 9cI&T &IRT [Option ID = 7685]

87) is defined as the no. of cycle completed by an alternating quantity in one second.

FY UF W53 H dHTEqT AT g@rT ot Ti Y FeAr F T F gReA fFar s ¥| [Question ID =
1762]

1. Frequency / 3igfea [Option ID = 7349]

2. Cycle / g% [Option ID = 7350]

3. Amplitude / 3Tma1d [Option ID = 7352]

4, Instantaneous value / dTcahlfereh AT [Option ID = 7351]

Correct Answer :-
« Frequency / 3Tgfcet [Option ID = 7349]

88) Transmission ratio of transformer is
TRABTAT T Y907 e gl
[Question ID = 1761]

1. K=V, /Vy = Ey /[E; = Ny /Ny [Option ID = 7348]
2. K = Vy/Vq = Ez/E; =Ny/Ny [Option ID = 7347]
3. K = Vq /V5 = Ey /E; = Ny /N, [Option ID = 7345]



4. K =Vy /E1 = Ny /E; = V5 /Ny [Option ID = 7346]

Correct Answer :-
e« K= V2/V1 = E2/E1 =N2/N1 [Option ID = 7347]

89) Irrespective of the causes, which is the fault in a 3-phase system?

AT F 4T MY F, 3-%F RATeH & FI9-371 AW a1 #? [Question ID = 1803]

1. Unsymmetrical faults / 3/a&fAd g1 [Option ID = 7514]

2. Both Symmetrical faults and Unsymmetrical faults / it G&AT aW 3R 3/9&fAT & [Option ID = 7516]
3. Symmetrical faults / FATAT &I [Option ID = 7513]

4, External faults / STE5r gIY [Option ID = 7515]

Correct Answer :-
« Both Symmetrical faults and Unsymmetrical faults / it FATAT aI¥ 3R 3@ATAT eI [Option ID = 7516]

90) Switching surges, insulation failure, and resonance can cause

HIAY TEAT, FeHAUA Aera, AR e 3cqe Y §FaT ¢ | [Question ID = 1795]

1. Overvoltage / 3itaalecst [Option ID = 7481]

2. Both Overvoltage and Low voltage / @it 3fiaRa@lecst 3R & dlecst [Option ID = 7483]
3. None of these / 38 & @IS #ff AT [Option ID = 7484]

4, Low voltage / &# dlecst [Option ID = 7482]

Correct Answer ;-
« Overvoltage / 3Tadtecof [Option ID = 7481}

91) When both the junctions of bipolar junction transistor (BJT) are in forward biased, then in
which region BJT will operate?

o gfaedt S giforeeT (BIT) & XAl SiereT BRas arEs &, af BT 4 &1 & F13 32 [Question ID =
1877]

1. Ohmic region / 3iIf&e &1 [Option ID = 7811]

2. Cut-off region / e-31T% &1 [Option ID = 7812]
3. Saturation region / Hcfea & [Option ID = 7809]
4, Active region / &ifshr &1 [Option ID = 7810]

Correct Answer :-
» Saturation region / HJft &= [Option ID = 7809]

92) Essential features of switchgear are:-

Raafay $ir srags fAAvaw #4r §:- [Question ID = 1799]

1. Absolutely certain discrimination / ﬁ?ﬁ-—r fafarse $igsma [Option ID = 7498]
2. All of these / @8t fased [Option ID = 7500]

3. Complete reliability / quT fd2a@=faar [Option ID = 7497]

4, Quick operation / @R iR [Option ID = 7499]



Correct Answer :-
o All of these / T3fr Tdsed [Option ID = 7500]

93) There are three terminals in an operational amplifier, they are 2 inputs and 1 output. What does
the third one represent?

UF HAT IR # dier efierer €, 2 $919e & 3 1 3m3eqe #1 §) e #am geiiEr 82 [Question ID =
1836]

1. Source and Drain / GTd 31X 37 [Option ID = 7646]

2. Sink and Source / T&@& 31X @I [Option ID = 7645]

3. Drain and Gate / 3+7 3iR 3¢ [Option ID = 7647]

4, Inverting and Non-inverting / S=Tafear 3iR siTdA-gaTatear [Option ID = 7648]

Correct Answer :-
« Sink and Source / &% 3R @I [Option ID = 7645]

94) What kind of device is Field Effect Transistor? /$es g% ciforel FH YR i BaEd 8?2 [Question
ID = 1834]

1. Non-Semiconductor / #ifeT ¥#Tehaeex [Option ID = 7637]

2. Unipolar semiconductor / J=dterk G#iehserex [Option ID = 7640]
3. Bipolar semiconductor / ST89TeR HTehsaex [Option ID = 7639]
4. Insulator / $geleX [Option ID = 7638]

Correct Answer :-
« Unipolar semicanductor; /-F=iHioR &#shseey [Option 1D /7 7640]

95) The value of anode current required to maintain the conduction of an SCR even though the gate
signal is removed is called as the:-

TAIS YT FT AT, THHIAR F T ) T4TC @ & AT 9y §, g ger & 2w e Reae wgarar §:-
[Question ID = 1829]

1. All of these / @3 Td&eT [Option ID = 7620]

2. Latching current / @if<ier e [Option ID = 7618]

3. Holding current / gifesar a¢e [Option ID = 7617]
4, Switching current / RafIsT #¥e [Option ID = 7619]

Correct Answer :-
o Latching current / of<I3T @< [Option ID = 7618]

96) anode current waveforms will have the minimum junction temperature.

TAS URT AT T 7 GdH FFUAA ATIHATT 19| [Question ID = 1818]

1. AC/ T &t [Option ID = 7576]

2. 100 % DC / 100% ST [Option ID = 7573]
3. 25 % DC / 25 % 3r&Y [Option ID = 7574]
4, 50 % DC / 50% Sr&T [Option ID = 7575]

Correct Answer :-



« 25 % DC / 25 % 31T [Option ID = 7574]

97) is used for non conventional system to generate electrical energy form.

F1 391 fagga st B & forw 3k arale yorrel & fore R Smar €1 [Question ID = 1759]

1. Diesel electrical system / gisTer faegd Jomrell [Option ID = 7339]
2. Nuclear system / 1ZR?ITU;r1;|'U'|'IT-»§°r [Option ID = 7340]

3. Tidal energy / SaRIT FaiT [Option ID = 7338]

4, Thermal system / 2r&ef YUTTel [Option ID = 7337]

Correct Answer :-
« Tidal energy / @™ FaT [Option ID = 7338]

98) How can we measure the battery capacity in SI units?

&7 SI sl & S F &aTHaT FY AT TFA 82 [Question ID = 1769]

1. Wh [Option ID = 7379]
2. Ah [Option ID = 7377]
3. kWh [Option ID = 7380]
4. Vh [Option ID = 7378]

Correct Answer :-
« Ah [Option ID = 7377]

99) Find the oddone out-regarding Ohm's Law.

I8 A F41 A & fAga & A1 §2? [Question ID = 1764]

1. Vacuum tubes / foiaTeT 2g& [Option ID = 7359]

2. Conductor / gdTereh [Option ID = 7360]

3. DC circuit / DC &fe [Option ID = 7358]

4. High Voltage Circuit / 3T diecst @fdhe [Option ID = 7357]

Correct Answer :-
« Vacuum tubes / fefafd g3 [Option ID = 7359]

100) Consider an n-channel MOSFET having width W, length L and electron mobility in the channel
is pn and capacitance per unit area is C_ox. If gate to source voltage V_GS = 0.7V, drain to source
voltage V_DS = 0.2V, u_nC._ox = 120uA/V, threshold voltage V_T = 0.4V and (W/L) = 60. Calculate
the trans-conductance gm in mA/V.

AT & B n-d7er MOSFET Y =iis1€ arerm W, siaré L 3 gaereiar sifarefierar pn # 3t ufy afae e & et
C_ox ¢ | iy aieest V_GS = 0.7V A & v e, 39 ¥ Wd dieest V_DS = 0.2V, p_nC._ox = 120pA/V,
dees aleest V_T = 0.4V 3 ((W/L) = 60 &1 mA/V & TH-TTelehdT ATH Y 0T | [Question ID = 1840]

1. 2.5mA /V [Option ID = 7662]
2. 1.65 mA /V [Option ID = 7661]
3. 3mA /V [Option ID = 7663]

4. 1.44mA /V [Option ID = 7664]

Correct Answer :-



« 1.44mA /V [Option ID = 7664]

101) When metal is kept at a room temperature, its electrons from the surface cannot escape
because:-

S 4T P FAX F ATGHTA T TG 1T 8, A 3qF FAFEIT HAg (HH HROT & a4 71 Hhai? [Question ID =
1839]

1. Attractive force of nucleus / F&FelI® & 37Teh¥eh Fef [Option ID = 7657]

2. Repulsive force of electrons / Selarelal T YfdeRe Sof [Option ID = 7660]
3. Attractive force of protons / Wl & 3TN &eT [Option ID = 7658]

4, Attractive force of electrons / Selelal & 31TRYUT s/ [Option ID = 7659]

Correct Answer :-
« Attractive force of nucleus / FFeliad & 37Teh¥eh &eT [Option ID = 7657]

102) Choose the characteristics which is not related to an ideal opamp.

S fardrwar et opamp @ Waftrar 7Et § 378 T+ | [Question ID = 1835]

1. Very high gain / Sgd 3T ofTd [Option ID = 7644]

2. Very high input impedance / agﬁﬁsﬁgtm [Option ID = 7642]
3. Very low CMRR / g HH CMRR [Option ID = 7641]

4. Very low output impedance / 9§ % 33cqe 37aR1eT [Option ID = 7643]

Correct Answer :-
e Very low CMRR / agFr %A CMRR [Option ID = 7641]

103) Choose the correct schematic arrangement of nuclear power station.

o] faggd F A W@ ASrerag caa€ 4T g | [Question ID = 1758]

1. Nuclear reactor, heat exchanger, steam turbine, alternator / 9IHTI] Ruaex, dT TFAdeR, AT AT,
3fTeed=1ex [Option ID = 7333]

2. Steam turbine, alternator, heat exchanger, nuclear reactor / 19 eS8, 3iTeciael, T TFHUNR, AT
Ruarex [Option ID = 7335]

3. Steam turbine, heat exchanger, alternator, nuclear reactor / 79 eIaTSe, AT TFIISR, 3iTeedaicy, IYATIT
Ruarex [Option ID = 7336]

4. Alternator, heat exchanger, nuclear reactor, steam turbine / 3ffeeiaieX, dT TFHTNR, 9IHATT Rueex, 719
&1 [Option ID = 7334]

Correct Answer :-
» Nuclear reactor, heat exchanger, steam turbine, alternator / 93#TI] RUerex, T TR, HT cETS,

3fTecex [Option ID = 7333]

104) what does the amp?2-sec rating of the SCR specifies?

TR Fr amp2-sec IR F1 Afese F 2

[Question ID = 1819]



1. The energy that the device can absorb while operating in the forward blocking mode / @8 FaiT, St 33T
TR A3 H P T THT 3UHIOT ITNTT X T & [Option ID = 7580]

2. The energy that the device can absorb before the fault is cleared / @g T, S 3YHIUT &IV gl & Tgol
37T X Fehll g [Option ID = 7579]

3. The energy dissipated by the device when fault occurs / &% 3cesT glel 9 3YSUT GART Sl ASC T AT &
[Option ID = 7578]

4. The power dissipated by the device when fault occurs / G 3cUeet glel IT 3USUT GaRT foisTell 77T Y STt &
[Option ID = 7577]

Correct Answer :-

« The energy that the device can absorb before the fault is cleared / @& FaiT, St 3T IV BT H TgoF
31aeNTT X TehahT & [Option ID = 7579]

105) What is the Synchronising power of a synchronous machine?

UF JedaTad AT Y Jodaiias AfFd 74T gt 82

[Question ID = 1903]

1. Direcly proportional to the synchronous reactance / Jedelelsh RUFCH & €Y 3MTefarfash [Option ID = 7913]
2. Equal to the synchronous reactance / dedshTeish RUH o sXTsR [Option ID = 7915]
3. Inversely proportional to the synchronous reactance / deashrersh RuarcH o fa9id sgcde=1 [Option ID = 7914]

4, None of these / 313 & IS 78T [Option ID = 7916]

Correct Answer :-

« Inversely proportional to the synchronous reactance / JedshTeish RUFcH & fauwid sgcdw= [Option ID =
7914]

106) What is the reserve capacity, if the maximum demand of generation of power is 50 MW, the
load factor of plant is 60% and the plant capacity is 50%?

HRIAT &7H7aT F41 §2 IR 50 Avare fsrel Y 3frawasw A €, a g7 1 a2 baet 60% ¢ 3§37 6 amar
50% &?

[Question ID = 1890]

1. 15 MW / 15 TaASseq [Option ID = 7863]
2. 10 MW / 10 THsseq [Option ID = 7862]
3. 20 MW / 20 TASse [Option ID = 7864]
4. 6 MW / 6 THSseY [Option ID = 7861]

Correct Answer :-
+ 10 MW / 10 THSseY [Option ID = 7862]

107) What is the value of g in a transistor having I¢c = 100.2mA and Ig = 100mA?
giforeex # fier 1 7e7 #a1 § 379 I¢ = 100.2mA and Ig = 100mA?
[Question ID = 1896]

1. 101 [Option ID = 7885]
2. About 1 / FETSTT 1 [Option ID = 7888]



3. 501 [Option ID = 7887]
4. 201 [Option ID = 7886]

Correct Answer :-
« 501 [Option ID = 7887]

108) What the damper bars develops, when the rotor speed, in a synchronous machine, becomes
more than the synchronous speed during hunting?

S 53 AT w<dt § 919 v Jeaaitas Fefiar & e aifa §fer & ket geaafas aifa & arftr &Y s 82
[Question ID = 1902]

1. Inductor motor torque / dTeleh b 34T§|‘\UT [Option ID = 7909]

2. Induction generator torque / Si#¥eX Y&k 3TEUT [Option ID = 7910]

3. d.c. motor toque / =Teleh 31 €Y et [Option ID = 7912]

4. Synchronous motor torque / WW@EH&}T [Option ID = 7911]

Correct Answer :-
« Induction generator torque / =YX Ya 3TEUT [Option ID = 7910]

109) In DC circuit, which of the following components is used to reduce the voltage?

DC TfFe #, aleest ! H A & fAv Rrafaf@a ges & ¥ Fw w1 9211 Far srar €2 [Question ID = 1765]

1. Resistor / 9faRrers [Option ID = 7364]
2. Inductor / 93 [Option, ID,5-73631

3. Reactor / RueeY [Option ID = 7362]
4, Capacitor / 4TR= [Option ID = 7361]

Correct Answer :-
o Resistor / 9faRIera [Option ID = 7364]

110) Which of the following battery is not rechargeable?

farafaf@a deiat & & Fla & gorrarst F3a A7 718 82 [Question ID = 1870]

1. Nickel metal-hydride battery / f¥eher &7 - 8183183 dedt [Option ID = 7783]
2. Silver oxide battery / feaR 3ifearss dedt [Option ID = 7784]

3. Lead acid battery / @5 31%eT sedl [Option ID = 7781]

4, Lithium-ion battery / forf@a#-3maa SedY [Option ID = 7782]

Correct Answer :-
« Silver oxide battery / feax 3iferarss St [Option ID = 7784]

111) Which of the following groups are examples of insulators?

vt worg o @ Pla-91 WAF vF FTHAT FT 38T §? [Question ID = 1851]

1. Plastic, silver, aluminium, wood / TeTTf¥ees, =Idl, TogHIT1a#, ofehsr [Option ID = 7708]
2. Glass, plastic, wood, porcelain / 7TH, TaTf€eca, oahar, AT [Option ID = 7705]
3. Glass, aluminium, wood, rubber / 3114, mﬁﬁw, hal, ¥§3 [Option ID = 7706]



4. Air, plastic, copper, wood / a1, CATEeeh, didT, ofshar [Option ID = 7707]

Correct Answer :-
« Glass, plastic, wood, porcelain / oI, Telli&eeh, dahaT, GiflelsT [Option ID = 7705]

112) Which of the following part or auxiliary is not used in diesel power station?

BASTer gTa TAA H AFaT A A HlA-31 9ré A1 ATfFaerdy 1 g29T A¢t fFar ST 82 [Question ID = 1791]

1. Lubricating system / effShfear f&Fea [Option ID = 7467]

2. Fuel supply system / S5 shr 3mqfct Sotrell [Option ID = 7465]

3. Steam generating system / T 3caIga [aTea [Option ID = 7468]
4, Intake air system / TdeT gar YuTrell [Option ID = 7466]

Correct Answer :-
« Steam generating system / T&H 3cdiger fAEcH [Option ID = 7468]

113) Which of the following diodes is also known as a hot carrier diode?

e & @ FleT ¥ 3RS F I3 argw SIS F T H ) AT 1T 82 [Question ID = 1874]

1. Varactor Diode / a¥&eX 3118 [Option ID = 7800]
2. PN Diode / PN 3118 [Option ID = 7797]

3. Schottky Diode / Thicehr 31315 [Option ID = 7799]
4, LED / TI$3Y [Option ID = 7798]

Correct Answer ;-
« Schottky Diode '/-FerigshT STaT8-[Option ID/= 7799]

114) Which of the following scales offers widest range for measurement through an instrument?

farafaf@a & @ #la a1 YA vE 3T & ATeAw @ A9 F AT g AT 92T Far 2 [Question ID =
1881]

1. Logarithmic Scale / SE[aT0Teh Y&T=IT [Option ID = 7827]
2. Exponential Scale / &1 YT [Option ID = 7825]

3. Linear Scale / 3@ YT [Option ID = 7826]

4. Square-law Scale / F31-ferar YATAT [Option ID = 7828]

Correct Answer :-
« Logarithmic Scale / E[T0Teh YATAT [Option ID = 7827]

115) Which of the following is used to neutralize the Ferranti effect in the medium and long
transmission lines?

ega 3Rt IRYor arEet #F SO THIT F I T & fav el F ¥ Ry w1 39w P aar 2
[Question ID = 1886]

1. Shunt capacitor / eic IUTRT [Option ID = 7847]

2. Series resistor / ST /a4 [Option ID = 7846]
3. Series capacitor / #@er TR [Option ID = 7845]
4, Shunt reactor / 2ie Ruaex [Option ID = 7848]



Correct Answer :-
« Shunt reactor / 2ic Ruerex [Option ID = 7848]

116) Which of the following semiconductor materials is used to make green LEDs?

farafaf@a srdaras gerdt & & Fia @1 g8 LED 9 & faw 393ier fvam Simar @2 [Question ID = 1871]

1. Indium Gallium Phosphide / g3r# e BiEwrss [Option ID = 7788]

2. Gallium Arsenide Phosphide / 3feras 3188 WITwss [Option ID = 7787]

3. Gallium Arsenide / s 3mdamss [Option ID = 7785]

4. Aluminium Gallium Arsenide / TegfATI# Aiferz# 3md=A1Ss [Option ID = 7786]

Correct Answer :-
« Indium Gallium Phosphide / S2r=1# o wiewss [Option ID = 7788]

117) Which of the following are the functions of a transistor?

farafaf@a & ¥ #la & cifawer & #1§ €2 [Question ID = 1875]

1. Rectifier and fixed resistor / TeMeres 3R E2R gfcReres [Option ID = 7804]

2. Switching device and fixed resistor / 39aR0T aa a¥ar AR AT gfarieres [Option ID = 7801]
3. Tuning device and rectifier / 3UeUT T THTT AT X TS [Option ID = 7802]

4, Variable resistor and switching device / IRad=T TfaRrers 3iX Fafiar 3uaor [Option ID = 7803]

Correct Answer :-
« Variable resistor and switching device / IRad=1T gfeaRiere 31X Tafiar 39T [Option ID = 7803]

118) Which of the following is correct about the gain of a cascade amplifier?

farafaf@a & @ #l7 @1 Fya FEHs wradwR # gfy F TR 7 7E 8?2 [Question ID = 1878]

1. Total gain is a sum of individual gains / el gfig STTFIT Jig T AT g [Option ID = 7816]

2. Total gain is a product of voltage and current gains / el g dtecst 3R URT gfg FT FUAH &1 [Option ID =
7814]

3. Total gain is a product of individual gains / e gfg afeFeaTd gig T JUTeTh & [Option ID = 7813]

4. Total gain is a ratio of individual gains / el gfe cafFderd gig T 3rIuraT & [Option ID = 7815]

Correct Answer :-
« Total gain is a sum of individual gains / e g AP gig T FNT & [Option ID = 7816]

119) Which of the following electrical element exhibits non-linear voltage-current characteristics?

frafaf@a fagga acal & § Fia a1 -+ Areesr-arr RFdwanst #1 geeker FIar 8? [Question ID = 1866]

1. Resistor / ufaRrers [Option ID = 7768]
2. Inductor / 9& [Option ID = 7767]

3. Diode / 31318 [Option ID = 7766]

4, Capacitor / ¥4TRT [Option ID = 7765]

Correct Answer :-
« Diode / 31318 [Option ID = 7766]



120) Which of the following statements is correct about capacitors?

FARAT & IR A AT A  FIT-71 FYT TE 82 [Question ID = 1844]

1. None of these / 33 & Is &Y F&I [Option ID = 7680]

2. The capacitor disconnects short circuit in direct current (DC) circuits and current in alternating current (AC)
circuits / FATTeX Qe TfFhe F gcgeT arT (3E)) Tfhe # 3R e F ycaradt arT (va) afFe & Basaese &
&ar g [Option ID = 7678]

3. The capacitor disconnects short circuit in both direct current (DC) and alternating current (AC) circuits / $9&EeI
arer TcgeT GRT (3 3R gcarad’ 9RT (V) Afehe gl 3 2M¢ Afhe I [3Eheidre HdT & [Option ID = 7679]

4. The capacitor disconnects current in direct current (DC) circuits and short circuit in alternating current (AC)
circuits /ATl Fe FI YcTaT URT (3Y) Tfdhe 7 3R gegradt &Ry (vd) 7 iic afde Badade Fearg
[Option ID = 7677]

Correct Answer :-

» The capacitor disconnects current in direct current (DC) circuits and short circuit in alternating current (AC)
circuits /e ae @ TegeT URT (34 AfFe 7 3R gearadt anr (v) # e affe Bueaac s ear g
[Option ID = 7677]

121) Which of the following radioactive byproducts releases from nuclear reaction?

fover YAt 3u-3camel & @ i @ aweoy gfafear & fawerar 82 [Question ID = 1898]

1. All of these / @ fdeed [Option ID = 7896]
2. Cesium / Eif&7# [Option ID = 7893]

3. Tritium / fefezsT [Option ID = 7895]

4, Strontium / TEife# [Option ID = 7894]

Correct Answer :-
o All of these / @ fased [Option ID = 7896]

122) Which of the following DC generators is employed in arc welding?

AFafaf@a & @ Fi a1 DC FeeX 3 Afege & R 82 [Question ID = 1879]

1. Shunt / 2ie [Option ID = 7820]

2. Cumulative Compound / §at &#9138 [Option ID = 7817]
3. Series / #/@edlr [Option ID = 7819]

4, Differential Compound / fa%ige F#a13s [Option ID = 7818]

Correct Answer :-
« Differential Compound / [a#ige #9138 [Option ID = 7818]

123) Which of the following power plant requires the largest area to produce same amount of
electricity?

e & @ FlT ¥ 397 TIFT R FAT HT TATT ATHT HT 3G FIA & AT Ta@ 37fAF &7 Y 3maeqshdr 8?2 [Question
ID = 1884]

1. Diesel power plant / 8rsTel FaiT 49 [Option ID = 7837]

2. Nuclear power plant / GR&T0] Fsit €27 [Option ID = 7838]
3. Solar power plant / G T 49 [Option ID = 7839]

4, Thermal power plant / FHT FaT @47 [Option ID = 7840]



Correct Answer :-
« Solar power plant / X ZaiT §I= [Option ID = 7839]

124) Which of the following generators is used in conjunction with turbines in a Hydro power plant?

frafaf@d & @ Fla a1 FateT v 183 FAT AT H TElST F 1T TASAT H 9A1er fFAT ATar 82 [Question ID =
1885]

1. Wound rotor Induction generators / g5 gofeh URUT S+ieX [Option ID = 7844]

2. Salient pole Synchronous generators / FE& Gel FHbITeleh ST=ieX [Option ID = 7842]

3. Squirrel cage Induction generators / Ehgel shof YRUT STekeX [Option ID = 7843]

4, Cylindrical core Synchronous generators / SelsiThR Ik THFITeleh STeliex [Option ID = 7841]

Correct Answer :-
« Salient pole Synchronous generators / HET dlel Aol SfeikeX [Option ID = 7842]

125) Which of the following is the Curie temperature (in Kelvin) of Iron (Fe)?

frafaf@a & @ wla w1 e (Fe) #1 #1f amaarne (Ffea= #) 82 [Question ID = 1872]

1. 948 [Option ID = 7791]
2. 713 [Option ID = 7789]
3. 1043 [Option ID = 7792]
4. 858 [Option ID = 7790]

Correct Answer :-
o 1043 [Option ID=,7792]

126) Which one is the schematic arrangement of steam power station?

a9 Rggq g At Aoarag sgavyr Fi @ 82 [Question ID = 1783]

1. Coal and ash handling, steam generating plant, steam turbine, alternator, feed water, cooling arrangement /
PRI 3R TG THTAT, T 3G AT, T cIETSH, iTecaiex, Hig Siel, 2fidel saaxar [Option ID = 7433]

2. All of these / T3 fdhed [Option ID = 7436]

3. Steam generating plant, steam turbine, feed water, alternate, cooling arrangement / {19 3cdTgeh I, 71T
TIETST, I8 T, dhfedsh, efidelsT sgaeT [Option ID = 7434]

4, Cooling arrangement, feed water, alternator, steam generating plant, coal and ash handling / eidelsT cgaEaT,
I8 STaT , iTeciaiey, HTT 3cUTeeh AT, HIgel 3R I@ THT [Option ID = 7435]

Correct Answer :-

« Coal and ash handling, steam generating plant, steam turbine, alternator, feed water, cooling arrangement /
PIIAT 3R TG THTAT, HTT 3cUTeh TIF, T &1, 3iTecaex, B3 Siat, el caawAT [Option ID =
7433]

127) Which one the following is not a part of steam power station?

frafaf@a & & wla a1 sna Rega = w1 Rewr 7@t 82 [Question ID = 1757]

1. Prime mover / #&Z dTefsh [Option ID = 7330]
2. None of these / 38 & @IS 8ff #&T [Option ID = 7332]
3. Condenser / @318} [Option ID = 7329]



4, Water treatment plant / STef 9&eT I [Option ID = 7331]

Correct Answer :-
« None of these / 378 & &1s 8fF A& [Option ID = 7332]

128) Which one acts as a mechanical rectifier in the process of converting AC current into DC
current where the emf is induced in the armature winding?

AC 4RT &Y DC 4RT # dcalet T UFHaT # e MFeHRT &1 14 Fi F3197 ST EMF Fa9 9% # IRaT 22
[Question ID = 1770]

1. Rheostat / R&Fee [Option ID = 7382]

2. Rotor / guTe [Option ID = 7384]

3. Commutator / s#geeX [Option ID = 7381]
4, Stator / T&eX [Option ID = 7383]

Correct Answer :-
« Commutator / &#gex [Option ID = 7381]

129) Which one of the following device is used as a protection against lightening?

fArafaf@a Baey & ¥ FY e F) el & avator & T F y2@ler fHAr Jrar §2 [Question ID = 1796]

1. Surge diverters / 31Taer 318acX [Option ID = 7487]

2. All of these / T3 fdehed [Option ID = 7488]

3. Overhead ground wires / 3{Ta(gs ${ffeTd X [Option ID = 7486]
4, Earthling screen / 3121feiat ThieT [Option ID = 7485]

Correct Answer :-
o All of these / @HT fashed [Option ID = 7488]

130) The law of electromagnetic induction is also called:-

freagad 9Xor & faer &1 3 frw e § S StTaT 82 [Question ID = 1850]

1. Joule's law / SfeT &7 fig# [Option ID = 7704]

2. Faraday's law / %13 @1 fa@a7 [Option ID = 7703]
3. Coulomb's law / &elld T fa# [Option ID = 7702]
4, Ohm's law / 311 &7 fag# [Option ID = 7701]

Correct Answer :-
« Faraday's law / %13 &7 faga [Option ID = 7703]

131) Gold is an example of which of the following?

T & & WA fREeT 381630 82 [Question ID = 1852]

1. Conductor / &3saeX [Option ID = 7709]

2. Semiconductor / §#&saex [Option ID = 7711]
3. Magnet / gss [Option ID = 7712]

4. Insulator / $geleX [Option ID = 7710]

Correct Answer :-



« Conductor / &3aeX [Option ID = 7709]

132) What can we reduce by using thin laminations in a machine?

AMNT F gqell AU FT ITANT FIF §H FIT FH FT TFhA 82 [Question ID = 1774]

1. Hysteresis losses / TR R &7t [Option ID = 7398]
2. Iron losses / @ilg &7fc [Option ID = 7399]

3. Eddy current losses / Tar &RT &7far [Option ID = 7400]
4, Copper losses / dTeT &feY [Option ID = 7397]

Correct Answer :-
« Eddy current losses / T3y 4R &fa [Option ID = 7400]

133) In a combinational circuit, which is used to send more data through a single transmission?

TF FiFaATd Ahe A, fFT TF FEOT & ATEAH & 30w 37 A= F forw Iuater fFar S1ar 2 [Question ID =
1838]

1. Encoder / T [Option ID = 7656]

2. Demultiplexer / f8AeEIcearaX [Option ID = 7655]
3. Multiplexer / #eccalda@x [Option ID = 7654]

4, Decoder / 313X [Option ID = 7653]

Correct Answer :-
o Multiplexer / #Fecrceidar [Option ID = 7654]

134) Heat is transferred simultaneously by condition, convection and radiation:-

Fea1 Rufa, wage ik RfEor gar v wry waeaia $i s g:-
[Question ID = 1900]

1. During melting of ice / % & frereler & gieT [Option ID = 7902]

2. Inside boiler furnaces / afgeRk #fgdT & 37€X [Option ID = 7901]

3. From refrigerator coils to freezer of a refrigerator / ¥FeReX disdl & T IPhoex & WHIeR d% [Option ID =
7904]

4. Through the surface of the insulted pipe carrying steam / #T9 o STcr gé‘ SSARIYT 9189 &l g & ATLIA F
[Option ID = 7903]

Correct Answer :-
« Inside boiler furnaces / SfaerR 12T & 37X [Option ID = 7901]

135) Which material used in commutator brushes?

FFYEET T H i § 9T FT 394" AT S1ar §2 [Question ID = 1771]

1. Mica / 3181 [Option ID = 7386]

2. Carbon / &TeieT [Option ID = 7385]

3. Copper / & [Option ID = 7387]

4, Cast iron / @ oligr [Option ID = 7388]



Correct Answer :-
« Carbon / &= [Option ID = 7385]

136) Which motor is used in the centrifugal pump?

Fearaa Y 957 F i F AYeX FT 39ANT A1 Srar ¥2 [Question ID = 1766]

1. Split phase induction motor / f&cee & YT AreX [Option ID = 7365]

2. Shaded pole induction motor / BTaTfehd el 90T HeX [Option ID = 7368]

3. Squirrel cage rotor / Thgel def goTeh [Option ID = 7366]

4, Capacitor start /Capacitor run induction motor / HETRT TeT& / TETRT T YROT AeX [Option ID = 7367]

Correct Answer :-
« Split phase induction motor / cere %& 90T Al [Option ID = 7365]

137) Select examples of secondary cells or rechargeable batteries.

{3z Ao a1 Rarsfaer deft & 3eme0r 9o | [Question ID = 1847]

1. Lithium-ion, Alkaline battery, Glass battery, Magnesium-ion battery / foif=eT 31T, Tehrallel Sedl, T de,
HTATRATH-3m=T sedY [Option ID = 7689]

2. Lithium-ion, Paper battery, Glass battery, Magnesium-ion battery / faf@<e 3mae, 9w e, 7o e,
AIATAIA-3MTT ST [Option ID = 7692]

3. Lithium air, Alkaline battery, Glass battery, Magnesium-ion battery / Tf2a# TR, TeahTelleT dell, T ST,
HIATRATH-3m7+T sedY [Option ID = 7691]

4, Lithium-ion, Lead acid battery, Glass battery, Magnesium-ion battery / faIf2=1eT 3mra1, oz vils sedl, 7omw deJ,
HINTATH-3TTF-a T [Option ID, =, 7690]

Correct Answer :-

« Lithium-ion, Lead acid battery, Glass battery, Magnesium-ion battery / faf2s1 3131, o3 vfds def, sard
8T, FAeAIfA-31m3eT dedr [Option ID = 7690]

138) Select the three methods of improving commutation.

fafas F gur & e afiw i 1 971 [Question ID = 1805]

1. Ring windings, Armature winding and Series commutation / Rer ar$fsar, 3R agfser 3R Adsr FegeereT
[Option ID = 7522]

2. Resistance commutation, Voltage Commutation and Compensating Windings / JTciRTer sha=geelel, alee hegeelel
3k arfagfct argfear [Option ID = 7521]

3. Capacitance commutation, Voltage Commutation and Series Windings / $af&eere HFEYCRA, dleca FHerereT 3R
HRYeT argfaer [Option ID = 7523]

4. Capacitance commutation, Inductance Commutation and Compensating Windings / $af&eereT egeers,
TSI hFgeAe IR &Tfaqer arsfsar [Option ID = 7524]

Correct Answer :-

« Resistance commutation, Voltage Commutation and Compensating Windings / 9faRrer m‘:&?l?-r, dlec
Frgeert 3T aifagfd argfser [Option ID = 7521]

139) A synchronous motor can operate at:-

TF qedFIias AT FaTfad g 8:-



[Question ID = 1904]

1. Lagging power factor only / shdel 9RasesT erfeFd sRek 9 [Option ID = 7917]

2. Lagging, leading and unity power factors / aRasest, 3130t 3R vehwgsh AfFd R [Option ID = 7919]
3. Leading power factor only / shaer 31370fr Qifed Re 9T [Option ID = 7918]

4, None of these / 318 & 15 it 18T [Option ID = 7920]

Correct Answer :-
« Lagging, leading and unity power factors / RasesT, 31aoft 3R teheae QUfdd dRe [Option ID = 7919]

140) Which instrument is used to detect the small electric current?

oY Raegd 4T FT 9ar T F AT Fler A7 39T 39T AT SITAT 82 [Question ID = 1763]

1. Voltmeter / areeaieX [Option ID = 7353]

2. Wattmeter / are#HIeX [Option ID = 7355]

3. Multimeter / #FeHTEX [Option ID = 7354]

4, Galvanometer / 3ted=teex [Option ID = 7356]

Correct Answer :-
« Galvanometer / 3rea=tdTeX [Option ID = 7356]

141) According to Fleming's right hand rule, what does the thumb indicate?

FATHIT & SRS 1Y & AT F HTAR, IS F FAT Hahe [Aerar 82 [Question ID = 1776]

1. Direction of the motion of the conductor relative to the magnetic field / dsrehrar &1 & ATY&T FelTeeh T T hr
fe=Ir [Option ID|= 7405]

2. Direction of the induced or generated current within the conductor / geTereh & #fix YR IT ScTeeT URT 1 feer
[Option ID = 7407]

3. Direction of the magnetic field / e &1 s eI [Option ID = 7406]

4, None of these / 318 & 15 it aTgr [Option ID = 7408]

Correct Answer :-

« Direction of the motion of the conductor relative to the magnetic field / ﬂaﬁ'q &1 & |IJeT FaTeleh I I
r e [Option ID = 7405]

142) dv/dt protection is provided to the SCR by:-

THHIR FY S/ S F&T, & G@RT G Y AT 8:- [Question ID = 1817]

1. Connecting a capacitor & resister in parallel with the device / 39aRUT & TTT HHAATAR H Teh TUTRT 3R
gfeRIee i Siige? [Option ID = 7571]

2. Connecting a capacitor in parallel with the load/ $TR & THATATGR & Teh FUTRT hl Siga [Option ID = 7569]

3. Connecting an inductor in series with the load / $R & &Y WelT H Teh IRF T SiIse [Option ID = 7570]

4, Connecting an inductor & resister in parallel with the device / 3UeUT & HTY FARNR & Th IRT 3R gfaras
g [Option ID = 7572]

Correct Answer :-

« Connecting a capacitor & resister in parallel with the device / 3IHIUT & HTY HHATATR H Teh HETRA 3R
gfaRIeres I Siga [Option ID = 7571]



Onsider the two transistor analogy of SCR, if al & if a2 are the common-base current gains of both
the transistors then to turn-on the device:-

THHIIR & AT & Tiforeel A §, IR a1 3R IR a2 =1 @ 3R 4R §, St Qe gifoeer @ 37w A
A & fOT 8T 9o FI &, a:- [Question ID = 1822]

1. al — a2 should approach zero / al - a2 =4 g1 =1ET [Option ID = 7591]

2. al + a2 should approach zero / al + a2 & Y { IS ST ARV [Option ID = 7589]
3. al + a2 should approach unity / al + a2 &I Teh & TYh &IAT AIfgT [Option ID = 7592]
4. al x a2 should approach unity / al x a2 &I Te ¥ Uk T AMET [Option ID = 7590]

Correct Answer :-
« al + a2 should approach unity / al + a2 &t Te & U T ATRT [Option ID = 7592]

144) Carborundum is also known as:-

FRESH A 3T FFT 717 F 17 S1ar €2 [Question ID = 1854]

1. Silicon Carbide / f&forsT sraTss [Option ID = 7718]

2. Germanium / S#faa# [Option ID = 7717]

3. Lead sulphide / o8 Iewrgs [Option ID = 7719]

4, Gallium arsenide / 3forger 31fe183 [Option ID = 7720]

Correct Answer :-

« Silicon Carbide / fafore FraTss [Option ID = 7718]

145) The constant speed of a synchronous motor can be changed to new fixed value by which of the
following methods?

% Jedaiias Al H et afa Frafaf@a Rt F ¥ e garr av Ruifa gea § sgar o awars?
[Question ID = 1905]

1. By changing the applied voltage / #Td] alecsl I Sl [Option ID = 7923]

2. All of these / T#Y fded [Option ID = 7924]

3. By changing the supply frequency / 3qfet 3Tgfcd s sigelent [Option ID = 7921]

4, By interchanging any two phases / Tor&T 8 &I TRUT &7 JTEIA-9GI &<h [Option ID = 7922]

Correct Answer :-
« By changing the supply frequency / m{% 34171% I Fgereny [Option ID = 7921]

146) Constantan is an alloy which contains metals.

Flerced U 70 g & ot e enfAe &1 [Question ID = 1888]

1. Silver and tin /=Tér 3R &= [Option ID = 7854]

2. Copper and tungsten / dfaT 31X ZereesT [Option ID = 7853]
3. Copper and nickel / €T 3R fe¥eher [Option ID = 7855]

4, Copper and zinc / areT 3R 57 [Option ID = 7856]

Correct Answer :-
« Copper and nickel / @&t 3R faer [Option ID = 7855]



Thermoelectric cooling systems make use of which effect to create a heat flux between the junction
of two different types of materials?

yefgafFes FHidr Rven ot Affies vor & et & Swe & i v fic o g & fov frw gema &1 saaer
#d 82 [Question ID = 1858]

1. None of these / 781 & s 3 sTEY [Option ID = 7736]
2. Peltier effect / 9fervar wa1ra [Option ID = 7733]
3. Reuters effect / I~ 9T1a [Option ID = 7734]
4, Seebeck effect / s gHTa [Option ID = 7735]

Correct Answer :-
« Peltier effect / 9felTaR 9Td [Option ID = 7733]

148) Calculate the scale span of the instrument that is calibrated between 20 bar and 200 bar and
used for the measurement of pressure.

39 39T 1 gR#ATT AT F 379 FI GF 20 aR 31w 200 IR F A= enfrad FH Ak GA EE F AT F
T 3ugier fFar sar §1

[Question ID = 1894]

1. 20 bar / ¥R [Option ID = 7877]

2. 180 bar / X [Option ID = 7879]
3. 190 bar / X [Option ID = 7878]
4. 220 bar / 91X [Option ID = 7880]

Correct Answer -
e 180 bar / s [Option ID = 7879]

149) calculate the current (in Amperes) flowing in the conductor when 5 x 1019 electrons are
flowing per second through it.

ATl & T8 aTel) YRT AT (TFARIT F) A0 Y 519 09 5 x 1019 gaaeiar yfa dFs g @ &
[Question ID = 1868]

1. 5 [Option ID = 7775]

2. 3.125 [Option ID = 7774]
3. 8 [Option ID = 7776]

4. 1.6 [Option ID = 7773]

Correct Answer :-
o 8 [Option ID = 7776]

150) Calculate the gauge factor of a strain gauge, ifthe value of resistance is 152
Ohms,whichchanges by 5 Ohms for 5000 micro strain.

I wferier 1 #7152 3119 giar € & REfaardh & gamas #r& A 1o #Y, S 5000 #sH Aefa & e 5 st
% 95 AT ¢



[Question ID = 1895]

1. 5.58 [Option ID = 7882]
2. 6.58 [Option ID = 7881]
3. 3.68 [Option ID = 7884]
4. 4.58 [Option ID = 7883]

Correct Answer :-
e 5.58 [Option ID = 7882]

Topic:- UPPCL_Feb18_JETE_Set01_GA

1) Which of the following options stands true for Base Erosion and Profit Shifting (BEPS)?

e & @ i @1 AFeT 37 Fea 3K a7 TAHIGROT (BEPS) F Teast # a2
[Question ID = 281]

1. Free movement of goods across countries / &2if & srer ATl T fa: Y[eh 3TTATSITET [Option ID = 1344]

2. Free movement of skilled professional across countries / ¢2if 3 a;%m IRt Fr fAaTer 3TaTsIgY [Option ID =
1343]

3. Tax avoidance strategy / ¢&T & §dTd @l I0T=IT [Option ID = 1342]

4, Resolving NPA crisis in banking sector / 33T &35 & NPA (3R fasurfed dufcer) Tehe &Y gof F=TT [Option ID =
1341]

Correct Answer :-
« Tax avoidance strategy !/ coH-H Sard hI.IUTIT [Option 1D/ = 1342]

2) Which of these is the largest brackish lake of India?

FAA ¥ FiT € AR T T 721 GR et AT 3fier §2
[Question ID = 288]

1. Pulicat lake / gfererenet gfter [Option ID = 1370]
2. Chilka Lake / Txre=hr 3fref [Option ID = 1369]
3. Wular lake / geR sfter [Option ID = 1371]

4, Pangong Tso / 9reTieT <&r [Option ID = 1372]

Correct Answer :-
o Chilka Lake / fareshr afier [Option ID = 1369]

3) Which of these is the best description of Probiotics?

gH ¥ NARANRFH FT T TF JoieT FiaT @182
[Question ID = 284]

1. Bacterial products having healing or curative power / 399 3T J9TTH AfFa ey Ghawg 3c4re [Option ID =
1353]



2. Fungal products having healing or curative power / 3R T 3167 ATFT GRY ‘CFW 3c4re [Option ID =
1354]

3. Archea products having curing or healing power / 31T 3cUTGT T 3UTR JT ATETH AfFA [Option ID = 1355]

4, None of these / 35137 & 15 it 18T [Option ID = 1356]

Correct Answer :-

« Bacterial products having healing or curative power / 39aR T J9TTH AfeFd &RY SHAT] 3c4re [Option ID =
1353]

4) Which award is called the oscar of Sports?
fore R Y @al 1 3T Fod 82
[Question ID = 278]

1. Lady Byng memorial trophy / oIgT f&far #fc githr [Option ID = 1332]

2. Laureus World Sports Awards / iRId des TAIEH 31@arsd [Option ID = 1330]
3. ESPY awards / ESPY q¥¥hR [Option ID = 1329]

4. Stanley Cup / ¥sTell &9 [Option ID = 1331]

Correct Answer :-

o Laureus World Sports Awards / JIfRTE des TAEH 31d15d [Option ID = 1330]

5) Which ministry launched the Kayakalp awards in the year 2015?

e FaTer @ 9% 2015 A FRISET REFR F A FHan?
[Question ID = 276]

1. Ministry of agriculture and farmers welfare / fﬁr 3R Rt Fedmor #a1er [Option ID = 1323]
2. Ministry of health and family welfare / TaFed 3R 9RAR weaToT HATET [Option ID = 1322]

3. Ministry of skill development / @ierer fasra FaTer [Option ID = 1324]

4, Ministry of labour and employment / %3 3iR J<19TR HATerT [Option ID = 1321]

Correct Answer :-
« Ministry of health and family welfare / Tare2g 3R 9RAR &earor AT [Option ID = 1322]

6) Which one of the following Industry does not fall into the category of Core Industries identified
by IIP?

farafaf@a et & ¥ i @1 35T 1P gart Rfega #a 3@t $r Aoft 7 18t amar 82
[Question ID = 283]

1. Cement / ®#e [Option ID = 1350]

2. Coal / e [Option ID = 1349]

3. Mining / @dleT [Option ID = 1352]

4. Natural gas / STepfcieh 31 [Option ID = 1351]

Correct Answer :-
e Mining / @aeT [Option ID = 1352]



7) Which article of Indian Constitution has the common law doctrine of pleasure?
R W & fre 3reTede & siaet ameig 1 Rigie amar 2
[Question ID = 275]

1. Article 123 / 3isfese 123 [Option ID = 1317]
2. Article 368 / 3ieT=d 368 [Option ID = 1320]
3. Article 213 / 3ief=d 213 [Option ID = 1318]
4. Article 310 / 37eJ=5¢ 310 [Option ID = 1319]

Correct Answer :-
e Article 310/ aaﬁ-d 310 [Option ID = 1319]

8) Which revolutionary leader was involved in the Chittagong armory raid?

FiT A FifaeRT AT REEiT Y EER o1 7 AT 92
[Question ID = 277]

1. Sheikh Mujibur Rahman / 1@ FfI§X EATT [Option ID = 1328]
2. Rajguru / Irs19T% [Option ID = 1325]

3. Surya Sen / & =T [Option ID = 1327]

4, Chandrashekhar Azad / 9g1@R 31TaTig [Option ID = 1326]

Correct Answer :-
« Surya Sen / ¥ [Option1D= 1327]

9) Which country recently acquired a stake in the Hambantota port of Sri Lanka?

R o1 A g1t &) A it & gaeTeler seang ¥ REATHY &1 arftargor fFar ar?
[Question ID = 280]

1. US.A / GgeFd s 31#{ehT [Option ID = 1339]
2. Saudi Arabia / 33T 3R [Option ID = 1338]
3. India / i [Option ID = 1337]

4. China / @YeT [Option ID = 1340]

Correct Answer :-
« China / 9@1sT [Option ID = 1340]

10) Which is the oldest Parliamentary democracy in the world?
gforam &7 Fa QAT HHET ST FioT T 82
[Question ID = 290]

1. Greece / 31 [Option ID = 1379]

2. Iceland / 383 [Option ID = 1377]
3. Poland / 9ol [Option ID = 1380]



4, England / §3ois [Option ID = 1378]

Correct Answer :-
o Iceland / 3M8Hels [Option ID = 1377]

11) Where is the headquarter of Organisation of Petroleum Exporting Countries (OPEC) located?

Yo foaTas daf & werae 3i9% (OPEC) &1 H&ATerd Fgl ud 8?2
[Question ID = 286]

1. Riyadh / Rmer [Option ID = 1361]
2. Tehran / @@= [Option ID = 1363]
3. Vienna / faTaT [Option ID = 1362]
4, Cairo / @133 [Option ID = 1364]

Correct Answer :-
e Vienna / fawar [Option ID = 1362]

12) In which of the following states is the Rajgir Mahotsav celebrated?

TR AW Zo1dt & e s # Fairar Sar 82
[Question ID = 273]

1. Uttar Pradesh / 3caX 9¢2r [Option ID = 1309]
2. Madhya Pradesh 7 fitg et {OptionsID=(1312]
3. Gujarat / 9[sNT [Option ID = 1311]

4, Bihar / TS8R [Option ID = 1310]

Correct Answer :-
« Bihar / f§gR [Option ID = 1310]

13) In which country/countries will the ICC Cricket world cup 2023 be played?

e ger/et & TS frdhe faeg #9 2023 Jr sATwan?
[Question ID = 291]

1. India / AR [Option ID = 1381]

2. England and Wales / g30i3 31k 3@ [Option ID = 1382]
3. West Indies / a¥c 31T [Option ID = 1383]

4, South Africa / gf&oT 375hreRT [Option ID = 1384]

Correct Answer :-

e India / @A [Option ID = 1381]

14) Naseem Al Bahr is the Naval exercise between India and which other country?

T 31T e R 3R e qEr qr & e &1 AR arsw 22



[Question ID = 279]

1. Iran / 3301 [Option ID = 1333]

2. Qatar / %X [Option ID = 1335]

3. Mangolia / #Fanferar [Option ID = 1334]
4, Oman / 37#TT [Option ID = 1336]

Correct Answer :-
e Oman / 31T [Option ID = 1336]

15) Baglihar is situated in which of these states?

TTER e TsT # Rag §2
[Question ID = 289]

1. Himachal Pradesh / fg&Taer 9&er [Option ID = 1375]

2. Uttar Pradesh / 3caX 9<er [Option ID = 1374]

3. Madhya Pradesh / #i&gweer [Option ID = 1373]

4. Jammu and Kashmir / Smar\t"q" FHR [Option ID = 1376]

Correct Answer :-
+ Jammu and Kashmir / ST## Td &#R [Option ID = 1376]

16) Name the operation which led to the capture and death of Osama Bin Laden?

AT AT AR Fr-hoaT 3R Fltaa T fRA-TT AT FIVATH 41 F2
[Question ID = 292]

1. Operation Neptune Spear / Tq2le A<l FIAT [Option ID = 1385]
2. Operation Urgent Fury / 3ToRereT 31sie WY [Option ID = 1388]

3. Operation Acid Gambit / 3iT9RereT Tfds dfFae [Option ID = 1387]

4, Operation Evening Light / 3iT9XereT gafsier ege [Option ID = 1386]

Correct Answer :-
« Operation Neptune Spear / 3Ol AU=geA T [Option ID = 1385]

17) Name the industrialist whose biography is depicted in the book "Beyond the last blue
mountain".

"fagies g AT o ATSEA" ATAE qEAS fhe 3eAnrafa iy shiaeh 82
[Question ID = 287]

1. Dhirubhai Ambani / &i%sTTS 37aTT [Option ID = 1366]
2. J.R.D Tata / St. 31R. 3T. @reT [Option ID = 1368]

3. Anousheh Ansari / 37Heg 3= [Option ID = 1365]
4, Rishabh Dev / %7 & [Option ID = 1367]

Correct Answer :-
e J.R.D Tata/ S, 3IR. 3. @rer [Option ID = 1368]



18) The famous Biennial Thakurani Jatra festival was recently held in

Tg gfaaTiis® sl T ARl grar A # T gam |
[Question ID = 282]

1. Telengana / &M= [Option ID = 1346]
2. Assam / 318# [Option ID = 1347]

3. Meghalaya / #&Ters [Option ID = 1348]
4, Odisha / 3132 [Option ID = 1345]

Correct Answer :-
o QOdisha / 30132 [Option ID = 1345]

19) The "Desert of Death" originally named as "Dasht-e-Margo" is located in which country?

"EEAd-U-AT" Forg®T arEafd® AT "Aid w1 IR § Y g s A R 2
[Question ID = 274]

1. Saudi Arabia / ¥3dT 3R [Option ID = 1315]
2. Pakistan / 9ferEdret [Option ID = 1313]

3. Iraq / 33 [Option ID = 1316]

4, Afghanistan / 3T®eTTeEdTe [Option ID = 1314]

Correct Answer -
o Afghanistan / 3T®aTarEdTe [Option ID = 1314]

20) The Grizzled Squirrel wildlife sanctuary is located in which state?

ol Frergd) aearsha 3ranvy e Tsw & Rua &2
[Question ID = 285]

1. Tamil Nadu / df#e=ITg [Option ID = 1358]
2. Uttarakhand / 3cadi@s [Option ID = 1357]
3. Chattisgarh / &cci@drg [Option ID = 1360]
4. Gujarat / I[N [Option ID = 1359]

Correct Answer :-

« Tamil Nadu / df&er=1rg [Option ID = 1358]

Topic:- UPPCL_Feb18_JETE_Set01_RS

1) Which letter should come in place of "?"

"2" Y SAIAE FleT WY & 3TTIM?



[Question ID = 881]

1. L [Option ID = 3741]
2. N [Option ID = 3742]
3. J [Option ID = 3744]
4. O [Option ID = 3743]

Correct Answer :-
o J [Option ID = 3744]

2) Which two mathematical operators should be interchanged to make the under given equation
mathematically correct?

foret QY IO Regl Y S19TE 39w 7 dgere W AR faar arar gAieor afoda w7 & |¢ @) se?

[8x4=12/3-12+16]
[Question ID = 297]

1. Both x, / & x, +
X, / Td x, + &l [Option ID = 1408]
2. X, + [Option ID = 14086]
3. x, / [Option ID = 1405]
4. =, - [Option ID = 1407]

Correct Answer :-
e =, - [Option ID = 1407]

3) Which day of the week was it on 14th August 19472

14 379Ed T 1947 §FA &1 SieT 47 fe&=t a1?
[Question ID = 308]

1. Saturday / 2rfelaR [Option ID = 1452]
2. Monday / ®1HaR [Option ID = 1449]

3. Thursday / gg€qfar [Option ID = 1451]
4. Wednesday / §€dR [Option ID = 1450]

Correct Answer :-
« Thursday / §g&afdar [Option ID = 1451]

4) Given below is a question and two statements numbered 1 and 2. Read both the statements and
then decide which statements are sufficient to answer the given question.



Question: Three different prime numbers are selected. What is the largest of these nhumbers

Statement 1: The product of three different prime numbers is 442,
Statement 2: All the chosen numbers are less than 50.

A1 v warer AR 3EW 3 A FUT 1 09 2 R v §, 1 Fyat H earer § 93 3R a7 F Y ware F1 aqw A F
T 57 @ Pl F FUFT I |

weaT: ST ITET HHTST HEATHT FT T AT 1T ¥ | ST & Had a9) woar 47 82

FY 1: AAT 37017 IHTT TEAIHT FT 3cUIE 442 ¢
FYeT 2: et I AR FEATW 50 ¥ FA 5

[Question ID = 299]

1. Both 1 & 2/ 1 U9 2 gt [Option ID = 1416]

2. Neither 1 nor 2 / #TéT 1 ST&T 2 [Option ID = 1415]
3. Only 1 / 3der 1 [Option ID = 1413]

4, Only 2 / saer 2 [Option ID = 1414]

Correct Answer :-
e Only 1/ el 1 [Option ID = 1413]

5) Given below are three phrases that are made of common words of English language and their
corresponding translation in another complex code language.

AT 7S ITeT & ereat Q-we ofter arerier T AT § AR WY @Y v SAfeer T H-3e7a Hsjariad s areier o R
T g

Phrases (ar3m2r) Coded Phrase (F13 87T & 3refarfea arerrer)
Large Old Indian Fish Market =========>[ Kip Lut Jom Pep Hoj ]

Old Empty Fish Pond =========>[ Hoj Gup Kip Ber ]

Large Fish Is Empty =========>[ Ber Jom Hoj Nuk ]

"Nuk" is the code for .
"Nuk" ¥ T wgFa Fis B

[Question ID = 294]

1. Is [Option ID = 1395]

2. Fish [Option ID = 1394]

3. None of these / =737 & @IS 8iY 5Tt [Option ID = 1396]
4. Large [Option ID = 1393]

Correct Answer :-
e Is [Option ID = 1395]

6) Select from the given Venn Diagrams the one which represent the relation between "Literates,
Lawyers and Politicians” as exists in the real world.

fad 1w 37 3yt F ¥ Fler 71 aEAfdF g F srran "R, e R At F fT F REIE gEaer B



e w7 & qefar &)

- ® @D
" @ @O

[Question ID = 880]

1. D [Option ID = 3740]
2. B [Option ID = 3738]
3. A [Option ID = 3737]
4. C [Option ID = 3739]

Correct Answer :-
e C[Option ID = 3739]

7) Arrange the given words in a meaningful sequence that conforms to the observations in the real
world.
[1.Surgery 2.Admitted 3.Injury 4.Ambulance ]

fw arw eree @Y v AEt FH A wod S A areafaF gfAar & sreparal @ AT @ a|
[1.7o 237l 3.9 4.5 g0l ]

[Question ID = 300]

1.4 2 3 1 [Option ID |8 1420]
2.4 21 3 [Option ID = 1419]
3.34 21 [Option ID = 1418]
4.4 312 [Option ID = 1417]

Correct Answer :-
e 3421 [Option ID = 1418]

8) A clock develops a problem because of which it loses 16 minutes per 24 hours. The clock was set
right on 24th July at 9:00 PM. What will be the true time when the clock shows the time as 2:00 PM
on 28th July?

TF U3 A FATAT 3T HT Fotg W g6 i 24 wel 7 16 e i g et ¥ afe 24 Far$ 1 39 ud 1 7 w7
9:00 PM WX ¥ F¥& OIS T 1T Y 28 ol I AT WA 4T 81 T6T g19N 1 A& st WA 2:00 PM 7 W&
an

[Question ID = 298]

1. 4:20 PM [Option ID = 1412]
2. 2:40 PM [Option ID = 1410]
3. 3:00 PM [Option ID = 1411]
4. 1:40PM [Option ID = 1409]

Correct Answer :-
e 3:00 PM [Option ID = 1411]



9) A mathematical operator @ means dividing a number by 2 and then subtracting 2 from the result.
If @(@(x))=13 then what is the sum of digits of x?

T AT HTIET @ FT Ade FREY Ao F & ¥ fsnforg #7398 ¥ S geem g ar ¢ I @(@(x))=13 giar x
& 31 FT QT =T gem?

[Question ID = 304]

1. 1 [Option ID = 1433]
2. 10 [Option ID = 1436]
3. 8 [Option ID = 1435]
4. 6 [Option ID = 1434]

Correct Answer :-
o 10 [Option ID = 1436]

10) A large cube is coloured on two consecutive surfaces and then broken into 125 smaller identical
cubes. How many of these smaller cubes will not have colour on them at all?

Teh 93 W Ol Y &) AL §T A FI T & 16 39 125 Toh S B &l & A1 7T <11t § @t are i g7 o w7
¥ Rraeit o T Adt o

[Question ID = 296]

1. 80 [Option ID = 1402]
2. 102 [Option ID =_1404]
3. 64 [Option ID ="1401]
4. 96 [Option ID = 1403]

Correct Answer :-
o 80 [Option ID = 1402]

11) A large cube is kept on a table. If 5 cuts parallel to the surface are made on the cube without
putting one cube over the other, then in how many maximum pieces can the cube be thus broken?

wwmmwmwwgm%l 3R {AE & WA 5 IR 39 U1 F 7 A A AW Y TF o $T gk &
3YR AT TE@T ATY, Y TTC Y 37 a2 U Y HAFaH et BIE gat 7 e o1 G §2

[Question ID = 307]

1. 12 [Option ID = 1445]
2. 18 [Option ID = 1447]
3. 16 [Option ID = 1446]
4. 27 [Option ID = 1448]

Correct Answer :-
e 18 [Option ID = 1447]

12) Five friends A, B, C, D and E have different weights except B and D who have equal weights. B is
heavier than E but is not as heavy as C. Who is the lightest of them all?



9= @&l A, B, C, D 31X E & TsTeT 37197 37197 & RarT B 31X D & a1 ot GAT &| B, E ¥ @Y TleleR € A C
& oI aotelt 71ET & | 319 @ W FH ToleleR Hid &2

[Question ID = 313]

1. Both B & D / B Ta D gt [Option ID = 1471]

2. E [Option ID = 1470]

3. A [Option ID = 1469]

4, Cannont be detrmined / dT F&f Y Tahd [Option ID = 1472]

Correct Answer :-
« Cannont be detrmined / @& TgT #X Hahd [Option ID = 1472]

13) Find the next term of the given series.

&Y I} ST FHT T 9 AT HY|

[2, 3, 6,13, 28, 1

[Question ID = 302]

1. 62 [Option ID = 1428]
2. 59 [Option ID = 1427]
3. 53 [Option ID = 1426]
4. 47 [Option ID = 1425]

Correct Answer ;-
e 59 [Option ID = 142A

14) Find the Odd One Out.
AT faFeT g |
[Question ID = 295]

1. Hospital / 37&9dTrer [Option ID = 1397]

2. Playground / @eT &7 #ereT [Option ID = 1398]
3. Laboratory / gteremmelr [Option ID = 1399]

4. Library / G&cepterd [Option ID = 1400]

Correct Answer :-
» Hospital / 37&9drer [Option ID = 1397]

15) Find the Odd One Out.
IrHaTa faswed g+ |
[Question ID = 303]

1. Television / TelifasteT [Option ID = 1432]
2. Music player / #gf3Teh TelaR [Option ID = 1431]



3. Radio / 33T [Option ID = 1430]
4. Newspaper / GATARYA [Option ID = 1429]

Correct Answer :-
» Newspaper / FARYT [Option ID = 1429]

16) Look at the given Venn Diagram carefully and select from the given option the one which
represent the group of people who are not businessmen but are healthy and married.

faw 1T Aot I F e7r A 3 3R R v Aol F F 370 wog F A S A @ 7€ ¥ HIR FaEy AR e
el

Cirnduntes

E aas iy s &)
Healthy
Ear e | /

-
F( %
— \ = J
T - E Magrried

E;EEI:}E}MIHH B L5 | i_::'i:'.l

[Question ID = 879]

1. C + D [Option ID = 3736]
2.1+ ] [Option ID—=[3/38]]

3. G+ H + K [Option ID = 3734]
4. E + F [Option ID = 3735]

Correct Answer :-
e C+ D [Option ID = 3736]

17) Pointing to a lady's photograph, Shambhu said "Her son is the only grandson of my mother".
How is the lady's husband related to Shambhu's only sister?

Uk AT Y TER A H FART FIC G, A3 A FgT, "SHDT 9T AL AT HT THAT G §" | AT 7 9fey, 243 A
THAT T ¥ FA Fa0d 8?2

[Question ID = 309]

1. Data Insufficient / 319aTcd STeTehRT [Option ID = 1456]
2. Brother in Law / ¢aX [Option ID = 1454]

3. Brother / #11$ [Option ID = 1453]

4. Uncle / Im=T [Option ID = 1455]

Correct Answer :-
« Brother in Law / ¢aX [Option ID = 1454]



If "BLACK" is coded as "DNCEM" then how is "GREEN" coded?

gfg "BLACK" % "DNCEM" #13 3T ST & aY "GREEN" T HIS T glem?
[Question ID = 306]

1. ITGHQ [Option ID = 1441]
2. ITGHP [Option ID = 1443]
3. ITGHHP [Option ID = 1444]
4. ITGGP [Option ID = 1442]

Correct Answer :-
o ITGGP [Option ID = 1442]

19) The problem figure consists of five figures A to E. Look at the problem figure carefully and then
select from the given options the figure that comes next in the series.

wee H TEART Y H@er A ¥ E &Y ol §| 56 awdR Y oA @ o a7 Rwedt 1 9 4 7 § 30 JER H g Y el
T 37T UG g1 |

AR,

[Question ID = 877]

[Option ID = 3727]

1[4

2. L [Option ID = 3728]
L

3. [Option ID = 3725]
<

4, [Option ID = 3726]

Correct Answer :-

- [Option ID = 3728]

20) A piece of paper is first folded as shown in the figure and then holes are punched into it. How
does the paper look like when unfolded?

UF FWTS & ¢H3 H GAT T TF & AT 11 ¢ A B 3909 32 7 o § | @rea w1 wmerer Far fegom?



[Question ID = 878]

1. - - | [Option ID = 3730]
2, b [Option ID = 3732]
3.5 =" [Option ID = 3731]
4, Le :- -: ' [Option ID = 3729]

Correct Answer :-

. | “-° % [Option ID = 3729]

Topic:- UPPCL_Feb18_JETE_Set01_GH

1) YT ASITA F AR TR HT el & |

FATIR 99 T HEAR, AR 9T e o e 8, forwst geaa: amls geard, weeifa, aa-%¢, safFaca,
Rrarae seafe see i wva @ rerer 9= o @el & | FATHR 9 AR AT # Apranyt ST e € AR
yra: 3 gl § ATheT & TR 97 Areaifes, wifars, #1ids va SATeN 81 g1 &1 ATohaR FATIRIT TATAT
smar3t & 3R FurERr vt o Ffeea e ¥ 9@ gge Aa ¥AERTT 59 §.9, 1 'S A v B3 ¥ vy
HET 7 TAATEROT Y Ageaqor Tor el AR FATAF TeaArst @ Ja9Ta F: F AT 30 460 & W@ w0 W 9k
Rl sﬁam#mﬁmmwmgmm

¥.) AR 99, FAERT W 3maid s gl
[Question ID = 350]

1. =I1&a1+ [Option ID = 1619]
2. 3T [Option ID = 1617]

3. gedfad [Option ID = 1623]
4. 9ah1UeT [Option ID = 1621]

Correct Answer :-
e YehIRMeT [Option ID = 1621]

2) 3YYFA AGHA F HTAR A HT el & |

FATIR 97 T HEAR, FATIRY T IR v g ¢, st geaa: awmls gead, teefa, da-%e, saf¥daca,
e senfe SRt @ F1erer X ot et ¥1 FATER 9T §UR & Wiew! 7 Agcaqur T4 @A §| FAERGT
yr: 3fae gl § AfheT o FATER v wreaifes, wiidrs, Tfde va oaArel oft g 1 rfwaR FeTaRTT Tl
smarat # 3 Fui vt o Sfeea e ¥ 9@ gger Aa AERTT 59 §.9, 1 'S A vl B3 ¢ vy
HI & STATUROT Y Ageaqul Tt fat 3 Fofore geasit § sraerd Fet & forw 378 ae) & wog@ et ¥ afte
R 8a%amﬁzﬁﬁﬁmﬁfaammmﬂ§3n[1]



¥.) WEI TS FT 39 o S|
[Question ID = 349]

1. A™RYS [Option ID = 1612]

2. GATIRT T AgedT [Option ID = 1613]

3. GATIRT ST 39A1f3ar [Option ID = 1615]
4. 91T [Option ID = 1610]

Correct Answer :-
o FATKRYA [Option ID = 1612]

3) '+ qi, & Flw @ Ffer e
[Question ID = 333]

1. 3ranfe [Option ID = 1552]
2. guT [Option ID = 1548]
3. fa5et [Option ID = 1550]
4. 7707 [Option ID = 1546]

Correct Answer :-
o f@st [Option ID = 1550]

4) "TIFAR H FleaT TAH §2
[Question ID = 337]

1. AcYeY FATE [Option ID = 1567]
2. HHAURY AT [Option ID = 1562]
3. §dw< §ATH [Option ID = 1565]

4, agsm%w [Option ID = 1564]

Correct Answer :-
* dcqey ¥ATH [Option ID = 1567]

5) U arv Asedl & & dEHT Asg T I Y|
[Question ID = 345]

1. fatrar [Option ID = 1598]
2. gdd [Option ID = 1596]
3. i3 [Option ID = 1600]
4, g&Y [Option ID = 1594]

Correct Answer :-
« g4Y [Option ID = 1594]

6) T I arery & YgFA HAFR F A FT 974, v 717 Ravedt 7 F FY |



F9 gR Ave & 3o W@Aany,
39 6N Avex & IeeT @t &

[Question ID = 346]

1. 2o [Option ID = 1605]
2. I# [Option ID = 1601]
3. 39&AT [Option ID = 1603]
4. 39 [Option ID = 1608]

Correct Answer :-
o A [Option ID = 1601]

7) Rrafaf@a eaeg & AT oreg &1 994, U v Rweul & ¥ #I|

GIGIC)
[Question ID = 341]

1. gsa [Option ID = 1578]
2. 310Tg [Option ID = 1583]
3. dfsd [Option ID = 1581]
4, g3ig [Option ID = 1579]

Correct Answer :-
g [Option ID = 1578]

8) fAw=ifafld use & fAAT rsg &1 99+, QU 71w fAweal # & FY|

HchR
[Question ID = 342]

1. faRTex [Option ID = 1587]
2. 379AT [Option ID = 1589]
3. foR¥FR [Option ID = 1585]
4, 39&T [Option ID = 1591]

Correct Answer :-

« fORTPR [Option ID = 1585]

9) Prfaf@a g #1 3 F ¥

el HIAT
[Question ID = 334]

1. fgF#d s&m=r [Option ID = 1557]

2. 9 & [Option ID = 1555]

3. Y9 faiweT =T [Option ID = 1553]
4, garcarfed &= [Option ID = 1559]



Correct Answer :-
o 99T fA=eT T [Option ID = 1553]

10) Fw T & Fsft Tt F1 309l 7T SI1aT §2 [Question ID = 338]

1. g/ T [Option ID = 1569]
2. #1fFa T [Option ID = 1576]
3. H9TR & [Option ID = 1571]
4, 91X T [Option ID = 1574]

Correct Answer :-
« 3R I [Option ID = 1571]



